

## MANGALORE REFINERY AND PETROCHEMICALS LIMITED

(A Govt of India Enterprise and Subsidiary of Oil & Natural Gas Corporation Limited)





## **DETAILED ADVERTISEMENT FOR RETAIL OUTLET DEALERSHIP IN TAMIL NADU - OCT 2025**

MRPL proposes to appoint retail outlets dealers for its HiQ outlets in the state of Tamil Nadu as per the following details:

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *		mum Dimens a of the site **		I	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1	On NH44, between Dollar Spinning Mill, Pudipuram and Sri shanmuga Mills pvt ltd kiriyampatti, Thadikombu	Dindigul	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
2	On LHS of NH44, within 2 Kms from Rajam Food Industries Entry Gate towards Kaveripattinam.	Krishnagiri	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
3	On NH44, 10 KMs from Salaipudhur Toll Plaza, Kayathar towards Madurai	Tuticorin	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
4	On SH-76, Sankarankoil - Kazhugumalai Road, From Jumma Masjit 2, Sankarankoil to Tamilnadu Jai Bharath Mills, Chidambarapuram, Sankarankoil.	Tenkasi	Regular	105	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
5	On SH79 between Sri Vidya Mandir Mat.Hr. Sec.School, Rasipuram and St. Barbara's Church, Minnampalli, Vanduvankadu, Namakkal	Namakkal	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
6	On MDR/ODR Road, Within Tiruchirappalli City Municipal Corporation	Tiruchirappalli	Regular	160	Open	DODO	-	25	25	625	32	105	DOL	15	5
7	On SH175, 7 Kms from Anthiyur Bus Stand Paruvachi branch Post Office	Erode	Regular	100	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
8	On MDR564 between, Melbuderi Government School, Tiruvannamalai and Eureka Nursery and Primary School, Venkatrayanpettai, Tiruvannamalai	Tiruvannamalai	Regular	125	OBC	DODO	-	35	35	1225	24	90	DOL	15	4
9	On LHS of SH120 , From Sree Balaji Academy of Advanced Education Avalur, Walajabad to Samsung India Electronics Private Limited, Sriperumbudur.	Kancheepuram	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
10	On NH 38, From Akshaya Vidhya Mandhir School, Polur to Sri Renugambal Polytechnic College, Polur.	Tiruvannamalai	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
11	On SH136, From Muthalamman Kovil Muppali, Muppuli to P.Ramasamy Seethalakshmi Palace A/C, Mailam - Chendur Rd, Mailam.	Villupuram	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
12	On SH60 between Semmandakuppam Bus stop and Govt. Higher Sec School, Nayakkan Kottai, Dharmapuri	Dharmapuri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
13	On SH12, within 11 Kms from Gudalur Tea Board Regional Office towards Pandalur.	The Nilgiris	Regular	100	Open	DODO	-	20	20	400	24	105	DOL	15	5
14	On NH81 road, between Government Higher Secondary School, Andanallur, Tiruchendurai and Chatram Bus Stand	Tiruchirappalli	Regular	350	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
15	On NH87 between Manamadurai Bus Stand and Goodwill Matric. Hr. sec. school	Sivaganga	Regular	150	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
16	On NH-44, From Shree Sanghvi Mills Private Limited, Poolam, Mundradaippu to Jumma Masjit, Nanguneri.	Tirunelveli	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
17	On NH79,7 Kms from NH44-NH79 Junction Seelanaickenpatti to NH79-NH44 Junction, Salem	Salem	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
18	On SH19, between TAF IAS Academy and SH19-NH83 junction, Pollachi.	Coimbatore	Regular	160	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
19	On SH17 between Sri Moogambigai Polytechnic College, Palacode and Seventh-day Adventist Church - Palacode, Dharmapuri	Dharmapuri	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
20	On SH86, within 2.5 Kms from Annai Hospital, Tiruchengode towards Velur.	Namakkal	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
21	On SH 172, between Padmini gardens, Tiruppur and Govt Veterinary hospital, Nachipalayam.	Tiruppur	Regular	165	Open	DODO	-	35	35	1225	32	120	DOL	15	5
22	On SH-145, between Amrita Vidya Vikas Higher Secondary School, Aranthangi and SH145-SH29 Junction, Aranthangi.	Pudukottai	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
23	On NH381, 10 Kms from N544-NH381 junction at Ananashi towards Tiruppur	Tiruppur	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
24	On NH 40, From Sunbeam International School (CBSE) to Ranipet District Collector Office.	Ranipet	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
25	On SH-76, 11 Kms From Karattumalai Check Post towards Sankarankoil.	Tenkasi	Regular	110	Open	DODO	-	35	35	1225	24	120	DOL	15	5
26	On NH544, within 10 Kms from Vijayamangalam Toll Plaza towards Chengappalli	Tiruppur	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
27	On MDR1018 between Pravin Mahal, Mathur and M.F.L., Manali.	Chennai	Regular	180	SC	CFS	73.2	25	25	625	-	-	DOL	-	3

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	mum Dimens a of the site **	•	l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
28	On NH-32 (SH-176), From Government Higher Secondary School, Chettikulam to Nuclear Information Centre, Kudankulam.	Tirunelveli	Regular	145	Open	DODO	-	35	35	1225	32	120	DOL	15	5
29	On SH6, between Government Agricultural College and Research Institute, Vazhavachanur and Govt. Middle School, Varagur, Tiruvannamalai.	Tiruvannamalai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
30	On SH 245 (Kallakurichi - Kacharapalayam Rd) From Panchayat Union Middle School, Kallakurichi to Gomuk ITI.	Kallakurichi	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
31	On SHU161, within Tiruvannamalai Town limit between Thanthai Periyar Statue and SH38 - SHU161 Junction.	Tiruvannamalai	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
32	On SH-91, From SH-179/SH-91 Junction, Painkulam, Pudhukadai to Karungal Bus Stand, Karungal.	Kanyakumari	Regular	190	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
33	On SH 23 (Mayiladuthurai- Thiruthuraipoondi Rd), From New Bharath Matriculation Higher Secondary School School to Vettar Kangalancheri bridge	Tiruvarur	Regular	110	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
34	On SH-154, Usilampatti - Peraiyur Road, From Government District Headquarters Hospital, Usilampatti To SH-154/MDR-243 Junction, Kanavaipatti.	Madurai	Regular	100	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
35	On NH81, 10 Kms from Dmart Sulur towards Karanampettai.	Coimbatore	Regular	280	Open	DODO	-	35	35	1225	32	120	DOL	15	5
36	On LHS of NH38, 3 KMs from Shreevari Tower Factory (Melakarandhai, near Masarpati Road) towards Thoothukudi	Tuticorin	Regular	140	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
37	On NH 83 - Dindigul Palani Road, between Sakthi College of Arts and Science for Womens, Oddanchatram and Oddanchatram bye-pass junction towards Oddanchatram.	Dindigul	Regular	140	ОВС	DODO	-	35	35	1225	32	120	DOL	15	4
38	On SH Road, Within Ariyalur City Municipal Corporation	Ariyalur	Regular	150	Open	DODO	-	25	25	625	32	90	DOL	15	5
39	On LHS of NH179B, between Panchayat Assembly Office Kumarampatti and Hanumantheertham Bridge, within Dharmapuri Limits	Dharmapuri	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
40	On SH83, within 7 Kms from Thoppampatty Panchayat Union Office, Thoppampatti towards Dasanaickenpatty	Dindigul	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
41	On SH148 between, St. Josephs Nursery and Primary School, Thirumangal and SH23 - SH148 Junction, Surakkudi.	Nagapattinam	Regular	105	ОВС	DODO	-	35	35	1225	24	120	DOL	15	4
42	On NH 87, From RTO bridge (NH-87/SH-29 Junction), Paramakudi to Hotel Ariyas Veg Restaurant near Thelichatthanallur Lake.	Ramanathapuram	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
43	On SH-47, From Morning Star College for Women, Ladanendal, Sadayanendal to Vazhivitta Ayyanar Temple, Kamuthi.	Ramanathapuram	Regular	100	Open CC-2	DODO	-	35	35	1225	24	120	DOL	15	5
44	On SH30 between, Mangalya Mahal - Marriage Hall, Kannanur and Murugan Temple, Madhurapuri, Thuraiyur.	Tiruchirappalli	Regular	100	OBC CC-1	DODO	-	35	35	1225	24	120	DOL	15	4
45	On SH-71, 8 Kms From Mother Teresa College Of Engineering and Technology, Iluppur towards Annavasal.	Pudukottai	Regular	100	SC CC-1	CFS	24.8	35	35	1225	-	-	DOL	-	3
	On SH 75, between Kulathur Junction (NH32 and SH75 Junction) and NH38-SH75 Junction	Tuticorin	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
	On SH218 between Manamadurai Principal District Court and SH218-NH36 Junction	Sivaganga	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
	On SH173, 9 Kms from Nasiyanur sub post office to DTDC Courier Chinnamuthu Main Street On New NH, between NH-SH186 Junction, at Satti Kinaru and NH-SH41 Junction at	Erode	Regular	100	OBC	DODO	- 24.0	35	35	1225	24	120	DOL	15	4
50	Muthugudi On SH58A , between Oli Mohamed Pettai Labbai Juma Masjid, Varathappa Nagar,	Virudhunagar Kancheepuram	Regular	120	SC	CFS DODO	24.8	35	35 35	1225 1225	32	120	DOL	- 15	3
51	Pillaiyarpalaya and Kanchi Shri Krishna College of Arts and Science, Kilambi On NH-85, Madurai-Theni Highway Road - From Valandur police station, Valandur To	Madurai	Regular Regular	175	Open Open	DODO	-	35	35	1225	32	120	DOL	15 15	5
52	Usilampatti Taluk Office, Usilampatti. On NH- 44, Madurai - Kanniyakumari Road, From Kamaraj College of Engineering &	Madurai	Regular	120	ОВС	DODO	_	35	35	1225	24	120	DOL	15	4
53	Technology (Autonomous), Vellakulam To Kalligudi Taluk Office, Kalligudi. On SH-179,Thengapattanam to Karungal Road, From C S I Church, Keezhkulam to C S I	Kanyakumari	Regular	100	Open	DODO	_	35	35	1225	24	120	DOL	15	5
	Church, Paloor.  On NH544, within 6 Kms from Excel Group Institutions, Pallakkapalayam towards Sangagiri	Namakkal	Regular	470	SC	CFS	24.8	35	35	1225		-	DOL		3
55	On MDR 730, from Melmalaiyanur angalamman kovil, Melmalayanur to D2. Valathy Police	Villupuram	Regular	110	Open	DODO		35	35	1225	24	90	DOL	15	5
	Station, Valathi.	Villupulalii	- Negulai	110	] Орен	5050		33	33	1223	27	50	DOL	13	1 1

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	I	mum Dimens a of the site **	•	I	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
56	Within municipal limits of Pallavapuram(Not on NH)	Chengalpattu	Regular	350	OBC	DODO	-	20	20	400	32	105	DOL	15	4
57	On MRR, MADURAI RING ROAD, From Valayangulam Toll Plaza To Miracle kalyana mahal, Kappalur.	Madurai	Regular	180	Open CC-1	DODO	-	35	35	1225	32	120	DOL	15	5
58	On SH 59,From PARAS MAHAL, next to VIT GATE 11, Katpadi to AS Guruswamy Mahal - Sevoor	Vellore	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
59	On NH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge.	The Nilgiris	Regular	120	OBC	DODO	-	20	20	400	24	120	DOL	15	4
60	On SH74, between Thanthoni Arch and Karur District Collector office	Karur	Regular	120	Open	DODO	-	20	20	400	24	105	DOL	15	5
61	On SH110 Tambaram- Mudichur-Sriperumbudhur road, From SH110-SH113 Junction to TMG College of Arts and Science, Mudichur, Tambaram	Kancheepuram	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
62	On MDR 791 Kanchipuram-Rajakulam Road , From NH48-MDR791 junction to Vaiyavoor Panchayat School, Kamakshi Amman Sannidhi, Vaiyavoor	Kancheepuram	Regular	140	OBC	DODO	-	35	35	1225	32	90	DOL	15	4
63	On SH52, From Maharishi Vidya Mandir School to Nordex India Pvt Ltd	Tiruvallur	Regular	135	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
64	On SHU-93, Within Tirunelveli town, From Nehruji Children Auditorium, Palayamkottai to Government College Of Engineering, Marshal Nagar, Tirunelveli.	Tirunelveli	Regular	160	Open	DODO	-	20	20	400	32	105	DOL	15	5
65	On SH60, between Udhayaam Matriculation Hr. Sec. School, Mathur and Mathur Bus Stand	Krishnagiri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
66	On SH57, From SH57-SHU3 junction to Vishwaksena Arts and Science College.	Kancheepuram	Regular	160	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
67	On NH136, Perambalur Bye Pass Road, between NH136-SH157-SH182 Junction and Regional Transport office, Perambalur	Perambalur	Regular	140	ST	CFS	24.8	35	35	1225	-	-	DOL	-	3
68	On SH-39A, From NH-744/SH-39A/MDR-212 Junction, Kuththukalvalasai to SH-40/MDR-154 Junction, Courtallam.	Tenkasi	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
69	On RHS of NH48, between Saint- Gobain Main Gate, Mambakkam, Sriperumbudur and Shree Trilokya Shankheshwar Parshwanath Jain Shwetambar Tirth, Banglore - Chennai High Way, Perumal Kovil St, Senthamangalam	Kancheepuram	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
70	On SHU218 between SHU218-NH383 Junction and SHU218-NH36 Junction, Tirupattur	Sivaganga	Regular	160	OBC PH	DODO	-	35	35	1225	32	120	DOL	15	4
71	On SH56, From Loganatha Narayanansamy Govt College to Minjur Railway Station.	Tiruvallur	Regular	155	SC PH	CFS	24.8	35	35	1225	-	-	DOL	-	3
72	On SH-72A, Madurai - Alagar Kovil Main Road, From Sri Angalaparameswari Temple, K Pudur, Madurai to Alagar Kovil Main Entrance Arch, Alagar kovil.	Madurai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
73	On NH 85- Madurai-Theni Highway- 8 Kms From E1 Sirmikhu Police Station, Aandipatti Towards Usilampatti	Theni	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
74	ON NH87, between Pamban Post Office, Pamban and St.Joseph Higher Secondary School Play Ground, Rameswaram.	Ramanathapuram	Regular	180	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
75	On NH 83, From Valavaikkal roundabout, to Kanoor police checkpost within District Limits	Tiruvarur	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
76	On SH 6A, From Taluk office Thandarambattu to Vasantha Shanmugam Marriage Hall, Thanipadi	Tiruvannamalai	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
77	On NH 44 Service Road - Palani -Dindigul Road, From Parvathy's Arts and Science College, Begambur To TNEB Head Office, Meenachinayakkanpatti	Dindigul	Regular	210	Open	DODO	-	35	35	1225	32	120	DOL	15	5
78	On SH 130 (Vaniyambadi-Guidyatam Rd), From Tamilnadu Electrical Substaion, Udayendiram to SRV Hitech Matriculation School	Tirupathur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
79	On Thanjavur-Kumbakkonam Main Road (Not on NH), From SIBMS HSS School, to KSK COLLEGE OF ENGINEERING & TECHNOLOGY, Darasuram.	Thanjavur	Regular	130	Open	DODO	-	35	35	1225	24	90	DOL	15	5
80	On NH181,10 Kms from Karamadai bus stand to Jayanthi Theatre Periyanayakanpalayam	Coimbatore	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
81	On SH80, 18 kms from Mettupalayam Sri Sakthi theatre towards Annur.	Coimbatore	Regular	125	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
82	On NH844 between Sacred Heart Higher Sec School, Irudayapuram – Selliampatti, Dharmapuri and S.M. Arumugam Polytechnic College, Dharmapuri	Dharmapuri	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
83	On SH 63 (Mannargudi-Thiruthuraipoondi Rd), From SH63 and SH202 Junction near Keelpalam bridge to Primary Health Center, Adichapuram	Tiruvarur	Regular	110	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
84	On NH179A between NH179A-MDR1044 Junction and NH179A-SHU55 Junction, Salem	Salem	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
85	On NH-744, Thirumangalam - Kollam Road, From Dharani Sugars, Vasudevanallur to TNEB Sub Station, Chokkanathanputhur Near Tenkasi/ Virudhunagar District Border	Tenkasi	Regular	130	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	mum Dimens a of the site ( **	•		be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
86	On NH81, 25 Kms from District Institute of Education & Training Mayanur to Shantivanam Ashram Kulithalai	Karur	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
87	On NH81, 2 KM from Palur bus stop, Palur towards Samyapuram	Tiruchirappalli	Regular	230	Open	DODO	-	35	35	1225	32	120	DOL	15	5
88	On NH 183/Cuddalore Bypass Road - From Sri Adi Chunchanagiri Women's College, Cumbum To John Pennycuick Memorial Hall	Theni	Regular	125	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
89	On NH381A,10 Kms from Erode MP Office to Modakkurichi VAO Office	Erode	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
90	On SH257, between Village Administrative Officer's Office, Kodiyalathur, Panangadi and SH257 - NH83 Junction.	Nagapattinam	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
91	In NH44 between, Sri Venkateshwara Poly Boards Pvt. Ltd, Peddureddipatti and M.M.Vidyashram CBSE School, Kovilpatti, Virudhunagar	Virudhunagar	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
92	On NH544H, 20 Kms from Bhavani bus stand to Ammapettai juction (NH544H-MDR28)	Erode	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
93	On NH 383, From NPR College of Engineering and Technology, NPR Nagar, Natham, Dindigul To Ambika Cotton Mills Unit 1	Dindigul	Regular	140	OBC CC-1	DODO	-	35	35	1225	32	120	DOL	15	4
94	On MDR 566 Agaramthen-Kovilanchery Rd, 4 km From MDR 566- SH110A Junction at Kovilanchery towards Tiruvanchery.	Chengalpattu	Regular	100	SC CC-1	CFS	55.2	20	20	400	-	-	DOL	-	3
95	On NH44, 9 Kms from MDR418-NH44 Junction at Aravakkurichi to Andipattikottai Bus Stop	Karur	Regular	120	Open PH	DODO	-	35	35	1225	24	120	DOL	15	5
96	On NH 32, From Mohamed Sathak Engineering College, Sathak Nagar to Government Primary Health Centre - Ervadi.	Ramanathapuram	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
97	On SH215, between Polur Government Hospital and Athimoor Forest Check Post, Periyamalai	Tiruvannamalai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
98	On SH42, from Srivi Lions International School, Thilakulam to Malli Police Station, Srivilliputhur	Virudhunagar	Regular	125	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
99	On NH85 between Sivagangai Bus Stand and Nattarasankottai Arch	Sivaganga	Regular	195	Open	DODO	-	35	35	1225	32	120	DOL	15	5
100	On SH114 between, Princess Palace, Tondiarpet and Sundara Vengateshwara perumal koil, Tiruvottiyur, Chennai.	Chennai	Regular	160	ОВС	DODO	-	25	25	625	32	105	DOL	15	4
101	On NH-38, Madurai - Trichy Highway, 10 Kms From Chittampatti Toll Plaza, Chittampatty towards Melur.	Madurai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
102	On SH236 Road, between AVM Thirumana Mandabam, Kanji and Panchayat Union Primary School, Alathur, Tiruvannamalai.	Tiruvannamalai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
103	On NH381, 10 Kms from Ottanchathiram Vegetable Market towards Kallimandayam	Dindigul	Regular	120	SC OBC	CFS	24.8	35	35	1225	- 24	- 120	DOL	- 15	3
104	On SH85 between Panchayath office Kundumaranapalli, Krishnagiri and Mathigiri Circle On LHS of NH544, 25 Kms from Sri Vasavi college Chithode towards Olapalayam	Krishnagiri Erode	Regular Regular	115 120	Open	DODO DODO	-	35 35	35 35	1225 1225	24 24	120 120	DOL	15 15	5
106	In NH744 within 4.5 Kms from S.Ammapatti Govt High School, Ammapatti towards Madurai within Virudhunagar district limits.	Virudhunagar	Regular	120	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
107	On NH 532, From Well Done Matriculation School, Thagamtheerthapuram to Keezhkuppam Toll Plaza.	Kallakurichi	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
108	On NH48, from Kancheepuram Entrance Arch, Bye pass, Kanchipuram to Sri Varaheeswarar Temple, Damal.	Kancheepuram	Regular	180	ОВС	DODO	-	35	35	1225	32	120	DOL	15	4
109	On SH50 International Maritime Academy, Tiruvallur to Chennai Public School	Tiruvallur	Regular	210	Open	DODO	-	35	35	1225	32	120	DOL	15	5
110	On SH 49, From MDR 65-SH49 junction at Kovalam to Dhanalakshmi Srinivasan College of Engineering and Technology, Mahabalipuram	Chengalpattu	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
	On SH108, From Junior Engineer Office to Kalam VidyaSanskar Patshala CBSE School	Tiruvallur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
	On NH44, 4 kms from TNEB Sub Station, SIPCOT Ph 2 towards Krishnagiri On SH95, (Mohanur-Namakkal Road), between Namakkal sub register office and Park View	Krishnagiri	Regular	125	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
113	Academy International School, Aniyapuram, Namakkal  On NH38 between, Krishna College of Paramedical and Allied Health Sciences, Irungalur and	Namakkal	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
114	Periyar World Thidal, Siruganur.  On SH-41, Sankarankoil- Tirunelveli Road, From Sankarankoil Government Hospital,	Tiruchirappalli	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
115	Sankarankoil to Pasumpon Muthuramalinga Thevar College, Melaneelithanallur.  On SHU-101, Thirupparankunram Road, From Evangelical Baptist Church, Madurai To Shri	Tenkasi	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
116	Arulmigu Subramaniya Swami Temple, Thirupparankundram Entrance Arch.  On SH281/MDR680, between Rajiv Gandhi Centre for Aquaculture, Karaimedu Village and	Madurai	Regular	180	SC	CFS	55.2	35	35	1225	-	-	DOL	-	3
117	T.E.L.C St. Zion Church, Manigramam.	Mayiladuthurai	Regular	100	Open	DODO	-	35	35	1225	24	90	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	mum Dimens a of the site **	•	I	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
118	On Devakottai Road between Devakottai road – NH536 Junction and Devakottai Head Post Office	Sivaganga	Regular	100	Open	DODO	-	35	35	1225	24	90	DOL	15	5
119	On NH544, 4 Kms from KPR Tech park Neelambur towards Irugur.	Coimbatore	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
120	On MDR-943, From Bethlahem Matriculation School, Karungal to NH-66/MDR-943 Junction, Eraviputhoorkadai.	Kanyakumari	Regular	250	SC	CFS	30.4	35	35	1225	-	-	DOL	-	3
121	On SHU52 (Avinasi road) between Police Outpost Nelambur and Coimbatore Institute of Technology, Coimbatore.	Coimbatore	Regular	190	Open	DODO	-	35	35	1225	32	120	DOL	15	5
122	On SH140 between, Government Higher Secondary School, T.Pular and Andavar Mahal, kudiyiruppu, Jayankondam.	Ariyalur	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
123	On SH193, within 8 Kms from Shri Kasi Viswanathar Temple, Aravakurichi towards Mondiuthangarai	Karur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
124	On SH61, From Shree Narayana Vidyalaya to Panchayat Union Middle School, Narsinghapuram	Ranipet	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
125	On NH44 between Government Law college, Dharmapuri and Sri Deivanai College of Naturopathy & Yoga Hospital, Periyanahalli, Dharmapuri	Dharmapuri	Regular	125	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
126	On LHS of NH48, from Sathyam International Institute of Hotel Management and Aviation, Sriperumbudur to Saveetha Medical College, Kuthambakkam.	Kancheepuram	Regular	350	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
127	On SH268, 1.2 Kms from Noyal Bus stop to Noyal Kuruku Salai	Karur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
128	On Kelambakam Bypaas Rd, From Padur Roundabout Junction, Padur to SH 49 A- Kelambakkam Bypass Rd junction	Chengalpattu	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
129	On NH 32, between Balmer Lawrie - Van Leer Limited and Varun Beverages Limited, Mamandur.	Chengalpattu	Regular	170	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
130	On SH70, from Government Seed Farm, Miralur to SH215-SH70 Junction (Bhuvanagiri Vallalar Bus stand)	Cuddalore	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
131	On NH-44, From Jai Hanuman Temple Near NH-44/NH-944 Junction, Kumarapuram, Kavalkinaru to Maharajapuram NH-44/NH-32 (SH-176) Junction Near Anjugramam.	Tirunelveli	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
132	On NH-785, Madurai - Natham Road, From Kodimangalam Panchayat office, Thirumalpuram, Kodimangalam to Pudur Toll Plaza, Vemparali, Pudur.	Madurai	Regular	120	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
133	On NH532, From Srinivasa Thirumana Mahal , Kullanchavadi to Vadalur Junction	Cuddalore	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
134	In MDR938 between, MDR938-SH42 Junction at Rengapa Shyam Nagar, Sivakasi, Virudhunagar and Thiruthangal Police Station, Thiruthangal, Sivakasi, Virudhunagar	Virudhunagar	Regular	100	SC	CFS	30.4	35	35	1225	-	-	DOL	-	3
135	ON SH 211, between SH 211-SH 7 junction and SH 211-NH 38 junction at Kandachipuram circle	Villupuram	Regular	110	Open	DODO	-	35	35	1225	24	120	DOL	15	5
136	On NH83 (Coimbatore-Pollachi Road), 10 Kms from Sasi Creative school of Architecture, Mayileripalayam towards Pollachi.	Coimbatore	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
137	On NH16 between, Madhavaram Rountana and Rani Sangupathi Marriage Hall, Puzhal.	Chennai	Regular	475	OBC	DODO	-	30	30	900	32	105	DOL	15	4
138	On SH32, between Tuticorin New Bus Stand and Tuticorin Outer By pass flyover (NH38 and SH32 junction), Tuticorin	Tuticorin	Regular	140	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
139	On SH236 Road, between IDUKKU PILLAIYAR TEMPLE, Tiruvannamalai and Gankampattu High School, Tiruvannamalai	Tiruvannamalai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
140	On SH86, within 4.5 Kms from Panchayat Union Primary School Arthanaripalayam, Paramathi towards Velur, Namakkal	Namakkal	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
141	On SH-29, 9 Kms From SH-26/SH-29 Junction In Aranthangi towards Karaikudi.	Pudukottai	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
142	On NH44,20 Kms from NH81-NH44 Juction to Thadakovil Bus stop  On SHU88 between, R-4 Police Assistance Booth, Usman Flyover, T. Nagar and Thomas	Karur Chennai	Regular Regular	120 145	Open SC CC-1	DODO CFS	73.2	35 25	35 25	1225 625	- 24	120	DOL	- 15	3
144	Munro Statue, Anna Salai, Triplicane.  On NH136B Road within Mayiladuthurai Municipal limit	Mayiladuthurai	Regular	130	Open-CC2	DODO	-	30	30	900	24	120	DOL	15	5
144	On NH136B Road within Mayiladuthurai Municipal limit On NH38 road within Perambalur Town limit	Perambalur	Regular	160	Open-CC2 OBC CC-1	DODO	-	30	30	900	32	120	DOL	15	4
	On SH126 (Ocheri Road), From Govt Health and Wellness centre, Ocheri to K.C.R Mahal,	i Crambalul					-							15	
146	Vettangulam.  On NH83 between, Jeevan College of Education, Vinmathee Nagar, Manapparai and J.J.	Ranipet	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
147	College of Engineering and Technology, Ammapettai.  On NH44, 16Kms from Salem Airport to Grand Estancia Hotel salem	Tiruchirappalli Salem	Regular Regular	140 120	SC OBC	CFS DODO	24.8	35 35	35 35	1225 1225	24	120	DOL	- 15	3 4
	2 y 22 y 20 m part to ordina Estanola Hotel salem	Juicini	1	1 120		1 2020	ı	1 55	1 55	1		1	1	1	1 1

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	mum Dimens a of the site ( **	٠ .		pe arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
<b>I</b>	On NH744 Road, From VPMM Engineering College, Taluk Krishnan Kovil Street, Srivilliputhur, Krishnan Kovil, Virudhunagar To Mangapuram Hindu Higher Secondary School, Mangapuram, Virudhunagar	Virudhunagar	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
150	On NH 38, between Aksara Vidhyamandir (CBSE) Senior Secondary School, Nallanpillaipetral and Govt Hr Sec School, Rajanthangal.	Tiruvannamalai	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
151	On SH94, between Namakkal Bus Stand and SH94-NH44 Junction, Namakkal	Namakkal	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
152	On NH36, 15 Km From Arasu Engineering College, Kondangudi towards Kollidam River bridge via thiruppanandall Bypaas Salai.	Thanjavur	Regular	125	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
153	On SHU52, between athupalam Junction to JBR Metal Industries.	Coimbatore	Regular	280	Open	DODO	-	35	35	1225	32	120	DOL	15	5
154	On NH 36 (Thanjavur- Kumbakkonam Hwy) 10 Kms From KSK College of Teacher Training towards Thanjavur.	Thanjavur	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
155	On SHU 89 (New Bus Stand Road) from Thanjavur Roundabout, Thanjavur to Sivaji Ganesan Statue, Thanjavur.	Thanjavur	Regular	100	OBC	DODO	-	20	20	400	24	105	DOL	15	4
156	On SH42 between, AAA College of Engineering & Technology, Amathur, Virudhunagar and Arasan Ganesan Polytechnic College, Virudhunagar.	Virudhunagar	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
157 158	On NH181, 6 Kms from SH15-NH181 Junction at Mettupalayam towards Conoor.  On NH36 between, Kuzhavadayan Mariamman Temple, Anaikarai and Kaduvetti Guru	Coimbatore Ariyalur	Regular Regular	200 170	Open Open CC-1	DODO	-	35 35	35 35	1225 1225	32	120	DOL	15 15	5
159	Memorial Hall, Pappakudi North.  On NH38, between Vettavalam - villupuram checkpost, Sorathur and Loyola College, Olaipadi, Vettavalam	Tiruvannamalai	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
160	On MDR749/ O6512 road, between KS Hospital, Andimadam and Taluk Office, Srimushnam.	Ariyalur	Regular	160	SC	CFS	30.4	35	35	1225	-	-	DOL	-	3
161	On SHU145 (Trichy main road), between St.Theresa's Girls Hr Sec School and NH81-SHU145 Junction at Virarakiyam.	Karur	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
162	On SH60A (Dharmapuri – Harur Rpad), between Om Sri Ramanujam School, Odasalpatti and Shri Krishnaa Polytechnic College, R. Gopinathampatti, Dharmapuri	Dharmapuri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
163	On SH17 between SH17 – NH44 Junction and SH17 – SH129 Junction, Dharmapuri	Dharmapuri	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
164	On SH-201, between Government Primary Hospital, Panayapatti and Sri Ayyappan Temple, Nachandhupatti.	Pudukottai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
165	On SHU-103, Old Madurai -Melur Road, From SHU-103/MRR Junction near Meenakshi Mission Hospital to SHU-103/NH-38 Junction, Othakadai.	Madurai	Regular	100	ST	CFS	24.8	35	35	1225	-	-	DOL	-	3
166	On NH-44, Madurai - Dindigu Road, From Government Arts and Science College, Kappalur to NH-44/SH-73A junction near Keelamathur.	Madurai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
167	On NH32 (East Coast Road ) From ECR Roundabout, Thiruthuraipoondi to Government High School, Pandi	Tiruvarur	Regular	120	ОВС	DODO	-	35	35	1225	24	120	DOL	15	4
168	Within town limits of Vaniyambadi, (Not on NH)	Tirupathur	Regular	120	Open	DODO	-	20	20	400	24	90	DOL	15	5
169	On NH785 between, NH38 - NH785 Junction and Palaar River Bridge, Via Natham - Thuvarankurichi Road.	Tiruchirappalli	Regular	124	SC PH	CFS	24.8	35	35	1225	-	-	DOL	-	3
170	On NH81, between Meenakshi Ramaswamy Engineering College, Udaiyarpalaiyam and Managethi Toll Plaza	Ariyalur	Regular	170	OBC PH	DODO	-	35	35	1225	32	120	DOL	15	4
171	On SH7, between Valliammai college of Arts and Science for Women, Arakandanallur to St.  Mary's Church. sennakunam, madhanagar.	Villupuram	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
172	On SH 127, (Palamaner Rd), From SH127-SH88 junction to Junior Engineer Electrical office, R.Gollapalli On SH131 (Bargur-Tirupathur Rd), From Block resource Centre, Gajalnaikenpatti to	Vellore	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
173	Elementary and Middle School, Barugur within Tirupathur district limit  On SH163, within 2kms from Mogurar Kuladeivam Temple,SN Palayam Sulur Taluk towards	Tirupathur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
174	Pappampatti On SH53( Nagari-Pallipattu Rd), From Pallipat Branch library to Co-operative Credit Society,	Coimbatore	Regular	130	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
175	Nediyam.  On NH948, between Bannari Amman Temple, Sathyamangalam and Fire Station,	Tiruvallur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
176	Sathyamangalam.  On SH 29, (Thanjavur-Pattukottai Rd), From Centre for sustainable Aquaculture, Thanjavur	Erode	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
177	to Tamil Nadu Survey Training Institute, Orathanadu.	Thanjavur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	mum Dimens a of the site ( **		l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
178	On SHU-100, Madurai -Samayanallur Road (Old Madurai - Dindigul Road), From Fatima College, Thathaneri To Government Higher Secondary School, Samayanallur.	Madurai	Regular	150	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
179	On MDR715 within 3 Kms from Tirupathur bus stand towards Kandaramanickam	Sivaganga	Regular	110	Open	DODO	-	35	35	1225	24	90	DOL	15	5
180	On NH32 East Coast Road, Between Ellora College Of Medical Sciences And Technology, Seruthur and St.Joseph's Community College, Ivanallur, Nagapattinam.	Nagapattinam	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
	On NH44, 12 Kms from Valluvar College of Science and Management towards Karur.	Karur	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
182	On SH15, 7 Kms from Dmart Periyasemur to Sri Sai Sathya Matric School Periyapuliyur	Erode	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
183	On NH 83 - Coimbatore - Nagapattinam Highway, From Chatrapatti Toll Plaza, Chatrapatti To NH 83-SH 83 Junction, Kodaimangalam.	Dindigul	Regular	130	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
184	On SH22, between Panchayat Union Middle School, Manakkudi and Gram Panchayat Assembly Office Melaiyur, Mayiladuthurai.	Mayiladuthurai	Regular	110	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
185	On NH 85 - Kochi-Madurai- Dhanushkodi Road, From Little Angels Nursery & Primary School to NH 85- Theni Bypass Road Junction, Theni Main Road Vilakku	Theni	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
186	ON NH38/NH138/VOC Road, between Tuticorin Port Trust Green gate and Tuticorin Harbour Port Bridge (NH38 / NH32 / SH176 Junction)	Tuticorin	Regular	210	Open	DODO	-	35	35	1225	32	120	DOL	15	5
187	On NH 36 (Pudukottai-Thanjavur Rd), From NH 36-NH 83 Junction to NH 36-MDR 532 junction	Thanjavur	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
188	On NH road within Tiruvannamalai Municipal limit	Tiruvannamalai	Regular	150	Open	DODO	-	30	30	900	32	120	DOL	15	5
189	On NH 79 (Salem Ulundurpet Highway), From Sri Vinayaga Matric Hr. Sec. School,  Elavanasurkottai to Parkavan Matriculation School, Olayanur.	Kallakurichi	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
190	On SH60A, between Marutham Matric Hr. Sec. School, Morappur and T.N.E.B Sub Station Morappur, Dharmapuri	Dharmapuri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
191	On SH271, 20 Kms in Siruvani main road from Thavathiru Santhalinga Adigalar Arts and Science College to Tamil Nadu Mercantile Bank Karunya Nagar Madawarayapuram .	Coimbatore	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
192	SH-194, From Yogeeswarar Community Hall, Putheri to SH-194/SH-45 Junction, Thuvarancaud.	Kanyakumari	Regular	110	SC CC-1	CFS	24.8	35	35	1225	-	-	DOL	-	3
193	On SH115, between Govt Hospital Komananthal and Thatchambadi veterinary hospital	Tiruvannamalai	Regular	100	OBC CC-1	DODO	-	35	35	1225	24	120	DOL	15	4
194	On LHS of NH38 Road, from Government Polytechnic College, Melapachchakudi to NH Korai River Bridge Trichy.	Tiruchirappalli	Regular	170	Open	DODO	-	35	35	1225	32	120	DOL	15	5
195	On NH 179B, from Akshaya duraimurugan marriage hall to Forest Department Office, Gingee, Siruvadi R.F	Villupuram	Regular	160	Open PH	DODO	-	35	35	1225	32	120	DOL	15	5
196	On NH77 Road, between Govt. Hogher Sec School, Ammappalayam and Kariyamangalam Toll Plaza, Chengam	Tiruvannamalai	Regular	130	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
197	On SH 156 - Kodaikanal Ghat Road - 5 KMS from SH 156-MDR 902 Junction Towards Kodaikanal	Theni	Regular	145	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
198	On SH244, (Tirupathur-Natramapalli Rd), From District Collector Camp Office to Panchayat Union President Office, Pudupettai.	Tirupathur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
199	On NH536, 5 Kms from St Joseph International School, Devakottai towards Pulial	Sivaganga	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
	On SH133 Polur - Chengam Rd, between Government boys hostel(ADW) Pudupalayam and Sri Dharmaraja Thirupathiyamman Temple, Chengam.	Tiruvannamalai	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
201	On SH road, Within Municipal Limits of Nagapattinam	Nagapattinam	Regular	135	Open	DODO	-	25	25	625	24	105	DOL	15	5
202	On NH332 A, from Bhoomeeshwarar Temple-Marakkanam, Marakkanam to Ocean Spray Resort, Manjakuppam.	Villupuram	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
203	On NH948 from Echanari temple to Abhinand Hospital Sundarapuram	Coimbatore	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
204	On LHS of NH48, from Saint- Gobain Main Gate, Mambakkam, Sriperumbudur to Shree Trilokya Shankheshwar Parshwanath Jain Shwetambar Tirth, Banglore - Chennai High Way,	Kancheepuram	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
205	Perumal Kovil St, Senthamangalam  On SH59, 2.5 KMs from Pernambut Tahsildar office towards Gudiyatham	Vellore	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
206	On MDR-940, From SH-46/MDR-940 Junction Near Evening Star Auditorium to Government Primary Health Centre, Chenbagaramanputhoor.	Kanyakumari	Regular	160	Open	DODO	-	35	35	1225	32	90	DOL	15	5
207	On SH4, from NH179B -SH4 junction to Lebanon Ministries(Church), Arukkampoondi.	Villupuram	Regular	100	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
208	On NH-36, between NH-36/NH-536 Junction Near St. Joseph Matric Higher Secondary School and Government Arts and Science College, Thirumayam.	Pudukottai	Regular	150	OBC	DODO	-	35	35	1225	32	120	DOL	15	4

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	mum Dimens a of the site ( **	•	I	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
209	On SH61 (Sholinghur -Arakkonam Rd), From Brakes India Private Ltd - Foundry Division, Sholinghur to CSI Middle School, Paranji, Sholinghur	Ranipet	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
210	On SH 182 road within Perambalur Town limit	Perambalur	Regular	120	Open	DODO	-	25	25	625	24	105	DOL	15	5
211	On SH78A, between Nallamuthu Gounder Mahalingam College-Pollachi and Tamil Nadu Kerala border within TN limits.	Coimbatore	Regular	200	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
212	On NH716 between, The Legend Saravana Stores, Padi and Yu - Chan Badminton Academy, Ambattur.	Chennai	Regular	220	Open	DODO	-	30	30	900	32	105	DOL	15	5
213	On SH-71, Pudukkottai - Viralimalai Road, From Annavasal Jain Cave Monument Idol to Mahatma Arts and Science College, Ariyur.	Pudukottai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
214	On MDR-408, Sankarankoil - Thiruvenkadam Road, From Sankarankoil Taluk Office, Sankarankoil to Karisalkulam Panchayat Office, A Karisalkulam.	Tenkasi	Regular	140	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
215	On SH 130 (Vaniyambadi-Guidyatam Rd), From MKM Kanniyammal Mahal, to Tamilnadu Government Hospital, Melpatti.	Vellore	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
216	On RHS of SH120, From Sree Balaji Academy of Advanced Education Avalur, Walajabad to Samsung India Electronics Private Limited, Sriperumbudur.	Kancheepuram	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
	On SHU117, 10 Kms from Sangagiri Old bus stand towards Salem	Salem Salem	Regular	120 120	Open SC	DODO CFS	24.8	35 35	35 35	1225 1225	24	120	DOL	15	3
218	On NH79, 12 Kms from Rasi seeds (P) Ltd Thulukkanar to EB Office Thalaivassal, Salem On NH44 between Pennai river bridge and NH44 – SH128 Junction Kaveripattinam,	Saiem	Regular	120	30	CF3	24.8	35	35	1225	-	-	DOL	-	3
219	On NH-44, From Ithaya Jhothi College Of Nursing, Kongandanparai to Moondradaippu Post	Krishnagiri	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
220	Office, Moondradaippu.  On SH86A, 12Kms from Salem Kongu Polytechnic to Mallasamudram	Tirunelveli	Regular Regular	135 100	Open Open	DODO	-	35 35	35 35	1225 1225	24	120 120	DOL	15 15	5
222	On SH65 (Tiruvarur-Kumbakkonam Rd), From Campaign Matriculation School, Pavithramanickam to Govt Primary Health Centre	Tiruvarur	Regular	100	ОВС	DODO	-	35	35	1225	24	120	DOL	15	4
223	On MDR 985 (Pappampatti road), 4 kms from MDR985-NH81 Junction towards Pappampatti.	Coimbatore	Regular	120	SC	CFS	55.2	35	35	1225	-	-	DOL	-	3
224	On SH106 (Tiruthani-Podaturpet-Pallipet Rd), From Fire and Rescue Service, Pallipattu to SDM Seminary, Nedigallu.	Tiruvallur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
225	On NH544 between NH544-SH198 junction and JKK Munirajah Educational Institutions, Komarapalayam	Namakkal	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
226	On NH-32 (SH-176), From Kudankulam Post Office, Kudankulam to Harvard International CBSE School, Ulagaratchagarpuram, Radhapuram.	Tirunelveli	Regular	165	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
227	On SH-76, Sankarankoil - Puliyankudi Road, From NH-744/SH-76 Junction Near Chinthamani Bus Stand to Mullikulam Panchayat Office, Mullikulam.	Tenkasi	Regular	145	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
228	On NH85 between Kalayarkoil bus stand and Don Bosco Higher Secondary School, Pallithammam	Sivaganga	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
229	On SH114, From Magna College of Arts & Science, Red Hills to Sri Kalaivani Vidhyalaya matric higher secondary school, Red Hills	Tiruvallur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
230	On NH179B, from Villupuram Medical College and Hospital Bus Stop, Mundiyampakkam to Chendur Government Hospital, Chendur.	Villupuram	Regular	170	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
231	On NH-36, 8 Kms From Perungalur Post Office, Perungalur towards Pudukkottai.	Pudukottai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
232	On SH143, between Saraswati Vidyalaya Higher Secondary School and Gandhiram high school, Nallarikkai	Perambalur	Regular	190	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
233	On SH116A, from Padavettamman Arch, Gandhi Nagar to Poovaraga Perumal Kovil, Chakkaramallur - Kanchipuram Road, Perumbakkam.	Kancheepuram	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
234	On SH-76, Sankarankoil - Puliyankudi Road, 8 Kms from Arulmigu Sankaranarayanaswamy Temple, Sankarankoil towards Puliyangudi	Tenkasi	Regular	130	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
235	On NH81, 12 Kms from NH81-SH165 junction at Karanampettai towards Palladam.	Tiruppur	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
236	On RHS of NH4/48, 5 Km from Ambur Co- Op Sugar Coopeartive Limited towards Somalapauram.	Tirupathur	Regular	130	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
237	On SH between Sri Arulmigu Dakshinakasi Kalabairavar Temple, Dharmapuri and SH129 – NH44 Junction, Nallampalli, Dharmapuri	Dharmapuri	Regular	130	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
238	On SH49A between, Shri Pal Muniswarar Temple, Semmancheri and C L Baid Metha College Of Pharmacy, Thoraipakkam.	Chennai	Regular	520	Open	DODO	-	25	25	625	32	105	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	mum Dimens a of the site **	•		pe arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
	On NH44 between Selvam College of Technology and NH44-SH94 Junction, Namakkal	Namakkal	Regular	200	Open	DODO	-	35	35	1225	32	120	DOL	15	5
	on NH132B, between Lakshmi Murugappa Thirumana mandapam, Ekkanampet, Kanchipuram - Chengalpattu Rd, Ayyampettai and Sri Lakshmi Narasimhar Temple, Palayaseevaram.	Kancheepuram	Regular	350	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
1	ON SH-29, From Ganapathy Chettiyar College of Engineering and Technology, Melakavanur Post, Kavanur, Paramakudi to Sonai Meenal College of Arts and Science, Venneervaikal, Mudukulathur.	Ramanathapuram	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
242	On SH263, within 4 Kms from Anjaneya Temple Gopasandram towards Gumlapuram within Krishnagiri district limits	Krishnagiri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
243	On SH196, 8 Kms from Perumanallur Panchayat Office to Tiruppur new bus stand	Tiruppur	Regular	100	Open CC-2	DODO	-	35	35	1225	24	120	DOL	15	5
244	On NH Road, Within Tiruchirappalli City Municipal Corporation other than NH 81 & NH83	Tiruchirappalli	Regular	170	OBC CC-1	DODO	-	30	30	900	32	105	DOL	15	4
245	On NH 716, From Tiruthani polytechnic College to Government Higher Secondary School,  Arcot	Tiruvallur	Regular	235	SC CC-1	CFS	24.8	35	35	1225	-	-	DOL	-	3
246	On SH60 between Office of The Regional Joint Director Department of Sericulture,  Dharmapuri and Indur Bus Stand, Dharmapuri	Dharmapuri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
247	On SHU-93, Within Tirunelveli town, From Tirunelveli Junction Railway Station to T.D.T.A  Diocesan Book Depot., Murugankurichi.	Tirunelveli	Regular	140	Open	DODO	-	20	20	400	32	90	DOL	15	5
248	On NH38, 10 KMs from NH38-NH138 Junction (TVL-TUT-MDR Bypass Bridge) towards  Madurai	Tuticorin	Regular	130	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
249	On SH 155, 5 KMs from Silukkuvarpatti Post Office towards Kodai Road On NH 136 road, between Eden Garden College of Education, Udumbiam and Veppanthattai	Dindigul	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
250	Government Arts College entrance.  On SH 127, (Pallikonda-Gudiyatham Rd), From Guru Ragavendra Polytechnic College,	Perambalur	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
251	Vepoor Gudiyatham to Crescent Matriculation School.	Vellore	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
252	On SH29 from Kottaiyur Nagara Siva Temple, Kottaiyur to 7 Kms towards Aranthangi	Sivaganga	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
253	On NH-744, Thirumangalam - Kollam Road, 10 Kms From Shenkottai Bus Stand, Shenkottai towards Kottaivasal, Tamilnadu/Kerala Border.	Tenkasi	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
254	In Tiruvannamalai within Municipal limit other than NH/SH road.	Tiruvannamalai	Regular	190	SC	CFS	30.4	20	20	400	-	-	DOL	-	3
255	Within Municipal Limits of Gudiyatham(Not on NH) On SH69, from TNEB SUBSTatIONS, Periyasevalai to SH69-NH38 Junction	Vellore Villupuram	Regular Regular	140 110	Open OBC	DODO DODO	-	20 35	20 35	400 1225	32 24	90 120	DOL	15 15	5 4
257	On NH381A, 8 Kms from Lucky export house R.G Spinning Mills Pallipalayam to K S Indian School	Namakkal	Regular	120	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
258	On SH 50A, From Amrita Vishwa Vidyapeetham, Vallal RCK Nagar, Vengal to Shree Vivaha Mahal, Alathur.	Tiruvallur	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
259	On NH179B between, Southern Railway Headquarters, Park Town and Prime Indian Hospital, Arumbakkam.	Chennai	Regular	280	OBC	DODO	-	30	30	900	32	105	DOL	15	4
260	On NH332 , From CSI St. James Church, E Pondy Rd, Keezperum Pakkam, Viluppuram to Government Boys Higher Secondary School, Valavanur, Kudumiyankuppam	Villupuram	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
261	On LHS of NH138, 12 KM from St. Mother Theresa Engineering College, Vagaikulam towards Tuticorin	Tuticorin	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
262	On NH81, 6 kms from NH381-NH81 Junction at Avinasipalayam to Pongalur karur vysa bank.	Tiruppur	Regular	165	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
263	On SH144 between, Sri Pazhani Andavar Kovil, Andimadam and Village Panchayat Office, Padanilai, Ariyalur.	Ariyalur	Regular	190	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
264	On NH77 between NH77-AH45 Junction and St. Joseph's International School, Periyapanamutlu, Anchoor, Krishnagiri	Krishnagiri	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
265	On NH 83 (Needamangalam Puravazhi Salai By pass), From Anjalai Ammal Mahalingam Engineering College to NH 83-SH66 Junction.	Tiruvarur	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
266	On NH32, From Surendra Multispeciality Hospital to Tata Chemicals, Periya Karaikadu, Cuddalore	Cuddalore	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
267	On SH83A, from Highways department N&RR division to Erode Sri palani spinning mills	Erode	Regular	100	ST	CFS	24.8	35	35	1225	-	-	DOL	-	3
268	On SH57, From SH57 - SH48 junction at Oragadam to SH57-NH48 junction at Sriperumbudur.	Kancheepuram	Regular	250	Open	DODO	-	35	35	1225	32	120	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	mum Dimens a of the site **	•	l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
269	On SH86A between Mahendra Institute of Technology, Mallasamudram and Mallasamudram Police Station, Namakkal	Namakkal	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
270	On SH50 B, From HNI Autotech Pvt. Ltd. , Sengadu to Woosu Automotive India Private Limited.	Tiruvallur	Regular	115	OBC PH	DODO	-	35	35	1225	24	120	DOL	15	4
271	On NH-87, From Mohammed Sathak Hamid College Of Arts And Science For Women, Sakkarakottai, Ramanathapuram To Al Qalam International School - CBSE, Perungulam.	Ramanathapuram	Regular	180	SC PH	CFS	24.8	35	35	1225	-	-	DOL	-	3
272	On SH-5 From Sre Lakshmi Narayana Mahal, Pattanam to Manoj Kalyana Mahal, Vellimedupettai	Villupuram	Regular	140	Open	DODO	-	35	35	1225	32	120	DOL	15	5
273	On MDR 90 - From ANNS Matric Higher Secondary School, Cumbummettu Road To NH- 183/MDR-90 Junction, Cumbum.	Theni	Regular	135	Open	DODO	-	35	35	1225	24	105	DOL	15	5
274	On SH 101- Vaigai Road - Varasanadu Road - From SH 101- NH 85 Junction, Kanavilakku To SH 101- MDR 763 Junction, Duraisamypuram	Theni	Regular	115	OBC	DODO		35	35	1225	24	120	DOL	15	4
275	On NH-944, Nagercoil Bypass Road, From Thiruppathisaram toll Plaza to St. Joseph International School, Kumarapuram, Aralvaimozhi.	Kanyakumari	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
276	On SH road within Tiruvannamalai Municipal limit other than SHU161 road.	Tiruvannamalai	Regular	100	SC	CFS	24.8	20	20	400	-	-	DOL	-	3
277	On NH79, 12Kms(towards Salem) from Raj Matriculation Hr. Sec. School, Pethanaickenpalayam to Muthampatti	Salem	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
278	On SH-45, From C S I District Church, Aralvaimozhi to Arulmigu Sri Chandana Mari Amman Temple, Thuvarancaud, Boothapandi	Kanyakumari	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
279	On SH-40, From A V R M V Government Girls Higher Secondary School (Rani School), Ambasamudram to Palavesakara Swamy Temple, Kila Ambur.	Tirunelveli	Regular	110	Open	DODO	-	35	35	1225	24	120	DOL	15	5
	Within municipal limits of Pammal(Not on NH)	Chengalpattu	Regular	150	SC	CFS	55.2	20	20	400	-	-	DOL	-	3
1	On SH7, between Shri Panchamuga Anjaneya Temple, Villupuram-Mambalapattu- Tirukkovilur Rd and Sumathy Hospital, Mambazhapattu Road, Govindhaswamy Nagar, Viluppuram.	Villupuram	Regular	110	ОВС	DODO	-	35	35	1225	24	120	DOL	15	4
282	On SH252 Kurinjipadi-Naduveerapattu-Pallur-Panruti Rd, from Shri Murugan Temple to KKG Mahal, main road, Palur.	Cuddalore	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
283	On NH 136 road within Perambalur Town limit	Perambalur	Regular	180	Open CC-1	DODO	-	35	35	1225	32	120	DOL	15	5
284	On SH113, From SH113-SH113A Junction (Kolachery Junction -Ponnamelle Road) to SHU3 - SH113A Junction( Kumanan chavadi )	Kancheepuram	Regular	110	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
285	On New Madurai Peripheral North Ring Road (MPNRR), From NH-785/MPNRR junction to SH-72A/MPNRR junction, Sembiyanendal.	Madurai	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
286	On SH191A from SH191A-SH29 Junction at koviloor to 6 Kms towards Tiruppattur	Sivaganga	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
287	On SH 22 Road within Mayiladuthurai Municipal limit On NH44 between Er. Perumal Manimekalai College of Engineering, Hosur and New Little	Mayiladuthurai	Regular	160	Open	DODO	-	25	25	625	32	105	DOL	15	5
288	Flower Matriculation Higher secondary school, Shoolagiri, Krishnagiri	Krishnagiri	Regular	180	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
289	On SH40, from Adichanallur Archaelogical Society, Adichanallur to Karungulam Block  Development Office, Karungulam, Thoothukudi  On NUTZ, from NUZZ, NUTZ, burnting, Tindingson Dungan Bd, Calcurding, SU42C, NUZZ,	Tuticorin	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
290	On NH77, from NH32-NH 77 Junction, Tindivanam Bypass Rd, Salavadi to SH136-NH77 Junction, Deevanur	Villupuram	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
	On SH155, From Post Office, Nilakottai to SH-154/SH-155 Junction, Vathlagundu.  On NH36, between EB Office, Vadakuthu and RTO Office, P, A.Andikuppam,	Dindigul Cuddalore	Regular Regular	100 120	Open Open	DODO DODO	-	35 35	35 35	1225 1225	24	120 120	DOL	15 15	5
	On NH85 from St.Joseph's Higher Secondary School, Sivganga to 6 Kms towards Madurai	Sivaganga	Regular	120	OBC CC-1	DODO	-	35	35	1225	24	120	DOL	15	4
294	On SH81, 9 Kms from SH81-SH15 Junction at Gobi Bus stand towards Kunnathur.	Erode	Regular	100	SC CC-1	CFS	24.8	35	35	1225	_	_	DOL	_	3
295	On NH81 Road, Within Tiruchirappalli City Municipal Corporation	Tiruchirappalli	Regular	410	Open PH	DODO	-	30	30	900	32	105	DOL	15	5
296	On New NH-66, From NH-944/ New NH-66 Junction Near Appta Market to SH-194/New NH-66 Junction, Putheri.	Kanyakumari	Regular	130	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
	On MDR257 between, Pattavarthi Bus Stop and Hanuman Temple, Thiruindalur.	Mayiladuthurai	Regular	130	Open	DODO	-	35	35	1225	24	90	DOL	15	5
	On SH2 between, AMET City College, Villivakkam.and SH2 - SH 56 Junction, Manali On SHU1222 (Velur Town Road) between NH44-SHU122 Junction and Velur Four Road	Chennai	Regular	540	SC	CFS	73.2	25	25	625	-	-	DOL	-	3
299	Circle, Paramathi – Velur, Namakkal	Namakkal	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
	On SH73, within 6 Kms from SH73-SH155 Junction towards Madurai	Dindigul	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
301	On SH 157 road within Perambalur Town limit	Perambalur	Regular	150	Open	DODO	· -	25	25	625	32	105	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	mum Dimens a of the site **	•	l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
302	On SH113, between Sriperumbudur Block development office , K. K. Nagar and Sengunthar Mudaliar Thirumana Mandapam, Jaganathapuram, Kundrathur	Kancheepuram	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
303	On NH-66, From KIMS Health Hospital, Chunkankadai to Smt. R P Rajalakshmi Hindu Vidyalaya Matriculation School, Puliyoorkurichi.	Kanyakumari	Regular	200	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
304	On SH42, from PWD Office and Inspection Bungalow, Sivakasi to Ayya Nadar Janaki Ammal College, Sivakasi, Virudhunagar	Virudhunagar	Regular	110	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
305	On SH116 between, Sri Annai Abhirami Shiva Shakti Siddhar Peetam, Vellamalai, Koolamandal and R S E Mahal, Mamandur.	Tiruvannamalai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
306	On NH 75, From Government High School, Bathalapalli to St Pauls Matric Hr Sec School	Vellore	Regular	145	Open CC-1	DODO	-	35	35	1225	32	120	DOL	15	5
	On NH 179A, 6 Km Podhigai College of Engineering & Technology towards Uthangarai	Tirupathur	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
1	On MDR143/SHU243 Kanchipuram bypass West, From MDR143-SH58A Junction (near Kanchi Shri Krishna College of Arts and Science, Kilambi) to SH116-MDR143 junction (Old Palar Bridge, Sevlimedu)	Kancheepuram	Regular	150	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
309	On SH169, between Tiruppur Municipal Corporation office and Little Flower Convent Matric Hr Sec School.	Tiruppur	Regular	110	Open	DODO	-	35	35	1225	24	120	DOL	15	5
310	On SH96, Airtel Showroom (Perundurai-Kangeyum road) to Volkswagen Erode Showroom	Erode	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
311	On NH32, from Shri Kiliyalamman Temple, Periyakumatti to Don Bosco Matriculation School, Annayampettai, Cuddalore	Cuddalore	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
312	On MDR979, 5 Kms from Arulmigu Karamadai Sri Ranganathar Temple to MDR979-SH80 Junction	Coimbatore	Regular	100	SC	CFS	30.4	35	35	1225	-	-	DOL	-	3
313	On NH-336 Pudukottai-Trichy Road, From Pudukottai Sipcot Industrial Estate, Nathampannai to Sudharsan Engineering College, Satyamangalam.	Pudukottai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
314	On MDR877, 6Kms from Sree Chaitanya NEET Academy to Ramco Cements sale Godown Vellakinar Village	Coimbatore	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
315	On SH-154, Usilampatti - Vattalagundu Road, From Police Station, Usilampatti to Government Kallar Higher Secondary School, Vellaimalaipatti.	Madurai	Regular	150	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
316	On NH-44, From NH-44/SH-75 Junction, Chidambaram Nagar, Thimmarajapuram, Tirunelveli to Sipcot Gangaikondan, K K Nagar, Gangaikondan.	Tirunelveli	Regular	160	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
1	On NH-85, Kochi-Madurai-Tondi Point Road, From Pasumpon U Muthuramalinga thevar Statue near NH-85/SH-73 junction, Checkanurani To M N U Jayaraj Nadar Matriculation Higher Secondary School, Nagamalaipudukottai.	Madurai	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
318	On NH136, between NH136 - SH157 - SH182 Junction and Gandhi Mahal Kalyana Mandapam, Veppanthattai.	Perambalur	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
319	On SH 50A, From Sriram Vidhya Mandhir CBSE, Perumalpattu to Govt Hr.Sec. School, Kottamedu	Tiruvallur	Regular	105	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
320	On SH34 between Kootturavupatti bus stop and Government Polytechnic College, Kattakalaipatty, Melur	Sivaganga	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
321	On NH 32, From Thiruppullani Police Check Post (NH 32- MDR 711 junction) to Ramanathapuram ECR Bridge, Pattinamkattan.	Ramanathapuram	Regular	145	Open	DODO	-	35	35	1225	32	120	DOL	15	5
322	On SH134 Tindivanam Marakanam road, from SH134-MDR80 junction to Bhoomeeshwarar Temple (SH134-NH332A Junction), Marakkanam	Villupuram	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
323	On NH 183- Kollam -Theni Highway- From NH 183- SH 227 Junction, Chinnamanur To NH 183- SH 100 Junction, Uthamapalayam.	Theni	Regular	140	Open	DODO	-	35	35	1225	32	120	DOL	15	5
	On NH-32, From Government Higher Secondary School, Kottaipattinam to Primary Health Centre, Ammapattinam, Kottaipattinam.	Pudukottai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
325	On NH 85, Kochi-Madurai-Tondi Point Road - From Agricultural Engineering Department, Madurai Road, Theni District To Government Theni Medical College, Theni.	Theni	Regular	195	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
326	On NH136 road, Between Mahatma Public School, Perali and Police Station, Kunnam	Perambalur	Regular	130	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
327	On NH536 within 10 Kms from NH536-MDR413 Junction at Devakottai towards Tirupattur	Sivaganga	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
328	On SH62 between, Kariyasithi Anjaneyar, Sandrapatti and AVS Marriage Hall, Devangar Nagar, Thuraiyur Main Road.	Tiruchirappalli	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	l	num Dimens a of the site (	•	l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1 379	On NH32, from Moratandi Toll Plaza, Mortandi, Thiruchitrambalam to Thensiruvallur road Bus stop, Kondamur.	Villupuram	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
330	On SH 247 (Old- MDR818) between, Sri Mathura Veeran Samy, Bhujangarayanallur and Government Girls Hostel, Adhanur South.	Perambalur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
331	On NH544, 6 Kms from PSG Institute of technology and applied research towards Karumathampatti.	Coimbatore	Regular	300	Open	DODO	-	35	35	1225	32	120	DOL	15	5
332	On SH93, between Sathankulam Bus Stand and St.Lukes Hospital, Nazareth	Tuticorin	Regular	120	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
1 333	On NH 75, From Saraswathi Vidyalaya Matriculation and Higher Secondary School, Gudiyatham to NTTF Vellore.	Vellore	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
334	On LHS of NH38 Road, from Arignar Anna Truck Terminus, Panjappur to Arulmigu Sri Vazhividu Murugan Temple, Fathimanagar.	Tiruchirappalli	Regular	250	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
335	On NH 183- Kollam -Theni Highway- From Bojaraj Cotton Mills To NH 183- MDR 735 Junction, Thappukundu	Theni	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
336	On SH69, From Kalaimahal Cement pvt ltd unit (factory), Erumanur to SH 69-NH38 Junction, Ulundurpet,	Cuddalore	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
1 33/	On SH62 between, Oasys Institute of Technology, Pulivalam and Sri Saravanabhava Palace A/C, Manachanallur, Tiruchirappalli	Tiruchirappalli	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
	On NH381,12 Kms from Suriyanallur Bus stop-2 towards Dharapuram	Tiruppur	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
1 224	On SH-46, From Arulmighu Thovalai Thirumalai Murugan Temple, Thovalai to Kanniyakumari-Thirunelveli District Border Near Raja'S Dental College and Hospital.	Kanyakumari	Regular	140	Open	DODO	-	35	35	1225	32	120	DOL	15	5
340	On SH150 between, Government Hospital, Vaitheeswaran Koil and Veterinary hospital, Manalmedu. Government Hospital, Vaitheeswaran Koil	Mayiladuthurai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
-	On SH-99, 11 Kms From TNEB 110 KV Sub Station, Kandarvakottai towards Pattukottai.	Pudukottai	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
1 3/17	On NH381B, between M.Kalathur Amman Temple Entrance, Mekkalnaikanpatti and Kongunadu College-Temple, Tholurpatti.	Tiruchirappalli	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
343	In NH744 between, Arulmigu Sri Kottaimalai Karuppasamy Thirukovil, Madavarvillagam, Srivilliputhur, Virudhunagar and Subburaj Cotton Mills, Melapattamkarisalkulam.	Virudhunagar	Regular	125	SC CC-1	CFS	24.8	35	35	1225	-	-	DOL	-	3
	On NH83 Outer Ring Road between, Thuvakudi Ring road junction, Thuvakudi and Karaikudi- Trichy, Panjappur-Thanjavur Hwy Intersection.	Tiruchirappalli	Regular	145	Open-CC2	DODO	-	35	35	1225	32	120	DOL	15	5
1 345	On NH32, between Police Station Keelaiyur, Keelaiyur and Periyanayagi Amman temple, Kaduvettipalayam.	Nagapattinam	Regular	150	OBC CC-1	DODO	-	35	35	1225	32	120	DOL	15	4
346	On NH81, between Vada Theerthanathar Temple, Jeeyapuram and Siddhi Vinayagar, Nagapattinam - Coimbatore - Gundlupet Hwy, Pettavaithalai)	Tiruchirappalli	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
347	On NH38 Chennai Tirchy Highway road, On LHS 10 km from Sri Vinayaga College Of Arts And Science, Ulundurpet towards Senjikuppam	Kallakurichi	Regular	150	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
348	On RHS of NH48, from Sathyam International Institute of Hotel Management and Aviation, Sriperumbudur to Saveetha Medical College, Kuthambakkam.	Kancheepuram	Regular	375	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
	On SH133, Between Shri Siva Temple, Singaravadi and Arulmigu Sri Nachathira Giri Murugan Alayam.	Tiruvannamalai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
350	On SH 225, 6 KMs from Vailankanni Public School, TNHB Phase II towards Rayakottai, Krishnagiri	Krishnagiri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
351	On NH38, from Aviyur Police Station to NH38-SH154 Junction (Kariapatti Bye Pass)	Virudhunagar	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
	On SH169, 2 Kms from Mangalam Bus stop to RKR Cotton mills	Tiruppur	Regular	100	SC	CFS	24.8	35	35	1225	-		DOL		3
1 353	ON SH13 (Old NH45A), Vanjore Roundabout, Panangudi and Nagapattinam Electric Sub Station, Ivanallur, Nagapattinam.	Nagapattinam	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
1 354	On SHU111 (Perundurai road), between Perundurai SIPCOT Industrial Estate and Perundurai New Bus Stand.	Erode	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
355	On LHS of NH 16, RMK College of Engineering and Technology (RMKCET) Gummidipoondi Taluk to Nallur Toll Plaza, Siruniam	Tiruvallur	Regular	150	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
356	On SH15, Within 2 kms from Makkinamcombai Panchyat office towards Kodivery, Sathyamangalam	Erode	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
357	On SH-26, between Venkateshwara Polytechnic College, Tumsar, Thirumalaraya Samudram and RTA Government Higher Secondary School, Vallathirakottai.	Pudukottai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	mum Dimens a of the site **	•	l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
358	On SH118, from Orikkai Panchayat office, Uthramerur Main Rd to Puratchi Thalaivar Dr.M.G.R Government Arts And Science college, Thiruppulivanam.	Kancheepuram	Regular	200	Open CC-1	DODO	-	35	35	1225	32	120	DOL	15	5
359	On SH 133A, Between SNS Matriculation Higher secondary School,Tiruvannamalai and G.R.M Mahal, Mangalam, Tiruvannamalai	Tiruvannamalai	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
360	On New NH, within 9 Kms from NH-MDR687 Junction, near athoor towards Oddanchatram	Dindigul	Regular	140	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
361	On NH83 Trichy Bypass between, Thanjavur - Nagapattinam - Rameshwaram Road Junction, Trichy Bypass within Tirchirappalli district limit towards Kumaramangalam Railway bridge.	Tiruchirappalli	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
362	On SH-26, 10 Kms From MNSK College Of Engineering, Vallathiraikottai towards Aranthangi.	Pudukottai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
363	On MDR259 Road within Mayiladuthurai Municipal limit	Mayiladuthurai	Regular	120	OBC	DODO	-	25	25	625	24	90	DOL	15	4
364	On SH136, from SH136-SH5 junction to Sree Periyae Chittar Beedam, Peradikuppam.	Villupuram	Regular	120	Open	DODO	- 24.0	35	35	1225	24	120	DOL	15	5
365	On SH-45, From St. Thomas Higher Secondary School, Netta to Kaliyal Junction.	Kanyakumari	Regular	110	ST	CFS	24.8	35	35	1225	-	-	DOL	-	3
366	On SHU-102, , Vadipatti Main Town Road, From Vadipatti Court to SHU 102 (Vadipatti Road)  - NH44 Junction towards Dindigul.	Madurai	Regular	165	Open	DODO	-	35	35	1225	32	120	DOL	15	5
367	On SH262 from SH262 – SH224 Junction, Papparapatti to SH262-NH844 Junction,Kadagathur, Dharmapuri	Dharmapuri	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
368	On NH 716A, From Uthukottai bus stand to Peripalayam Bridge	Tiruvallur	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
369	On NH 87, From Sri Karpaga Vinayagar College Of Education, Kamutnakudi to St.Mary's Mat. high school, Parthibanur	Ramanathapuram	Regular	120	SC PH	CFS	24.8	35	35	1225	-	-	DOL	-	3
370	On SH-180, From SH-179/SH-180 Gandhi Junction, Colechal to Kamarajar Bus Stand, Thingal Nagar (Colechal to Eraniel Road)	Kanyakumari	Regular	100	OBC PH	DODO	-	35	35	1225	24	120	DOL	15	4
371	On SH 38 , From Pathrakaliamman Kovil, Sayalgudi to Government Primary Health Center Perunazhi, Kamuthi Taluk.	Ramanathapuram	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
372	On SH79 between Vetri Vikaas Public School, Rasipuram and Thiruvalluvar Government Arts College, andagalur, Rasipuram, Namakkal	Namakkal	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
373	On SH-73A, Thirumangalam - Usilampatti Road, From SH-73A/MDR-961 junction near Shivani Primary and Nursery Primary Health Centre, Ammapatti to SH-73A/NH-44 Junction, Thirumangalam.	Madurai	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
374	On SH9 , From Suseela Srinivasan Mahal, Panruti to Nellikuppam Police station	Cuddalore	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
375	On NH83 Road, Within Tiruchirappalli City Municipal Corporation	Tiruchirappalli	Regular	250	Open	DODO	-	30	30	900	32	105	DOL	15	5
376	On SH79 between K.S.R Educational Institutions, Tiruchengode and CSI Holy Trinity Church (SPB) Pallipalayam, Namakkal	Namakkal	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
377	On NH179A between RTO, Harur and H. Pudhupatti Toll Plaza, Dharmapuri	Dharmapuri	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
378	On SH15A, Within 2 kms from Sevur Panchaith Office towards Nambiyur	Tiruppur	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
379	On LHS of NH 179B, Between Aathur Toll Plaza to SMJ Grand Hotel & Mahal, Acharapakkam	Chengalpattu	Regular	260	Open	DODO	-	35	35	1225	32	120	DOL	15	5
380	On SH256 road, between Kunnam bus stop and Veppur Goverment Higher Secondary School	Perambalur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
381	On NH-32, From TNEB Office, Manamelkudi to NH-32/SH-145 Junction at Kattumavadi.	Pudukottai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
382	On NH183 - Theni - Chennai Highway road- From Kalvi International Public School (CBSE) - Theni, Devathanapatti To Mount Zion Academy	Theni	Regular	120	ОВС	DODO	-	35	35	1225	24	120	DOL	15	4
383	On SH67 (Nagor-Nannilam-Nachiyarkovil Rd), 10 km From SH67-SH65 junction towards Achudamangalam-Sri Somanatheswarar Temple	Tiruvarur	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
384	On MRR, Madurai Ring Road, From Viraganur Ring Road Junction, Viraganur to SHU- 103/MRR Junction near Meenakshi Mission Hospital, Sambakulam, Kodikulam.	Madurai	Regular	120	Open CC-1	DODO	-	30	30	900	24	120	DOL	15	5
385	On NH948, 7 Kms from Sathyamangalam RTO office to Tamil Nadu Civil Supplies Periyurh	Erode	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
386	On SH-201, From Ponnamaravathi Taluk Office to Government Primary Health Centre, Koppanapatti.	Pudukottai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
387	On SH22, From Bright Future Nursery & Primary School, Thirumangalagudi to NH 136B-SH22 junction.	Thanjavur	Regular	125	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
388	On SH83A,Within 4 kms from Kangeyum court towards Thundukadu	Tiruppur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5

Part	Si No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	num Dimens a of the site **		l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
Part	1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
March   Marc				1 -	l	PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN	Type of Site	' ' '	Frontage	Depth (in	Area	working capital requirement for RO	required for RO infrastructure	Lots (DOL)	in Rs Lakhs	in Rs Lakhs
Part	389		The Nilgiris	Regular	110	OBC	DODO	-	20	20	400	24	105	DOL	15	4
Page   1909		Naranapuram Naalu Mukku Bus Stop and Naranapuram PHC				· ·		-								
Section   Process   Proc	391		Pudukottai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
		209 junction.	Thanjavur	Regular	180	SC CC-1	CFS	24.8	35	35	1225	-	-	DOL	-	3
195   195	393		Thanjavur	Regular	120	OBC CC-1	DODO	-	35	35	1225	24	120	DOL	15	4
1986   69 8415, 7 fives from Fifte Friendlikation center to Modulus flust stopp   Fore   Fore Fifte Friendlikation   Fore   Fore Friendlikation   Fore   Fore Fifte Friendlikation   Fore   Fore Fifte Friendlikation   Fore   Fore Fifte Friendlikation   Fore   Fore Fifte Friendlikation   Fore Fifte Friendlikat	394	On NH44 between Sri Perumal Temple, Sundekuppam and Krishnagiri toll plaza, Krishnagiri	Krishnagiri	Regular	200	Open	DODO	-	35	35	1225	32	120	DOL	15	5
	395	On NH544, 8 Kms from NH544-SH166 junction at Avinashi towards Karumathampatti.	Tiruppur	Regular	200	Open PH	DODO	-	35	35	1225	32	120	DOL	15	5
An analysis   March	396	On SH15, 7 Kms from FfIRE rehabilitation centre to Modhur Bus stop	Erode	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
Section of the control about Participant Agent	397	·	Mayiladuthurai	Regular	100	OBC	DODO	-	25	25	625	24	105	DOL	15	4
Section   Control   Section   Control   Section   Sect	398		Ramanathapuram	Regular	200	Open	DODO	-	20	20	400	32	120	DOL	15	5
Substantian	399	On SH 99, From Village Panchayat Office Sengipatti to Goverment TB Hospital, Sengipatti.	Thanjavur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
100   On Nergambakkam Rd, From Zion Public School to SH 121-Vengambakkam Rd Junction.   Chengalasart Md   Regular   100   Open   ODDO   - 20   20   400   24   150   ODL   15   5	400		Villupuram	Regular	200	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
On NH38 road, between Government Primary Health Centre, Valikandapuram, Perambalur   Regular   230   Open   D000   .   35   35   1225   32   120   D01   15   5	401	On SH234-Chennai Outer Ring Rd, From SH234-SH56 junction Minjur to RTO office Red hills.	Tiruvallur	Regular	110	Open	DODO	-	35	35	1225	24	120	DOL	15	5
And Managalamedu Police Station	402		Chengalpattu	Regular	100	Open	DODO	-	20	20	400	24	105	DOL	15	5
38/MMR/SH-33 Junction, Madural to Auxilium Arts and Science college for Women, Chitampatti, Thomanipatti, Chitampatti, Chit	403		Perambalur	Regular	230	Open	DODO	-	35	35	1225	32	120	DOL	15	5
Surandal.   Sura	404	38/MMR/SH-33 junction, Madurai to Auxilium Arts and Science college for Women,	Madurai	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
Sunction, Veillimala	405		Tenkasi	Regular	190	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
Fenkasi to SH-39/SH-39A Junction Near Pavoorchathiram Bus Stand.   Fenkasi Negular   115	406		Kanyakumari	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
4V8         Kumaramangalam Medical College, Salem         Salem         Regular         120         OBC         DODO         -         35         35         125         24         120         DOL         15         4           409         On NH48, between Vellore TNSTC Bus Depot to Government Veterinary Hospital, Poigai.         Vellore         Regular         120         SC         CFS         24.8         35         35         1225         -         -         DOL         -         3           410         ON NH-744, From NH-744/SH-39A/MDR-212 Junction, Kuththukalvalasai to NH-744/MDR-923 Junction Near Thangamayil Jewellary Shop, Tenkasi.         Tenkasi         Regular         120         Open         DODO         -         35         35         1225         24         90         DOL         15         5           411         Ruby Landmark, Vandalur - Padappai - Wallaja Road, Oragadam Industrial Corridor, Oragadam to Natural Markaran Markar	407		Tenkasi	Regular	115	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
410 ON NH-744, From NH-744/SH-39A/MDR-212 Junction, Kuththukalvalasai to NH-744/MDR 923 Junction Near Thangamayil Jewellary Shop, Tenkasi.  411 ON SH48, between Johnson Lifts & Escalators, Oragadam Industrial Corridor, Oragadam to Ruby Landmark, Vandalur - Padappai - Wallaja Road, Oragadam Highway, Vardalur - Padappai - Wallaja Road, Oragadam Highway, Vardalura - Padappai - Pad	408		Salem	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
Segular   120   Open   ODD   Open   Ope	409	On NH48, between Vellore TNSTC Bus Depot to Government Veterinary Hospital, Poigai.	Vellore	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
Hand Ruby Landmark, Vandalur - Padappai - Wallaja Road, Oragadam Highway, Varadharajapuram.  Kancheepuram Regular 320 OBC DDDO - 35 35 1225 32 120 DDL 15 4  Alt On SH 142 road within Perambalur Town limit  On NH32, ECR, between NH38 - NH32 Junction and NH32-MDR484/SH49 Junction, Arasadi, Tuticorin Regular 180 Open DDDO - 35 35 35 1225 32 120 DDL 15 5  Alt On SH42, between Rathinaam College Of Nursing, Aruppukkottai and TNSC Godown, Tamilpadi  On NH44 between, Government High School, Sulakkarai, Virudhunagar, and Ramco Virudhunagar  On NH-944, From Thirupathisaram toll Plaza to Parvathipuram NH-66/NH-944 Junction, Regular Regular 190 Open DDDO - 30 30 30 900 32 90 DDL 15 5	410		Tenkasi	Regular	120	Open	DODO	-	35	35	1225	24	90	DOL	15	5
On NH32, ECR, between NH38 - NH32 Junction and NH32-MDR484/SH49 Junction, Arasadi, Tuticorin  Regular 180 Open DODO - 35 35 1225 32 120 DOL 15 5  A14 On SH42, between Rathinaam College Of Nursing, Aruppukkottai and TNSC Godown, Tamilpadi  A15 On NH44 between, Government High School, Sulakkarai, Virudhunagar, and Ramco Virudhunagar, Thammanayakkanpatti, Virudhunagar  A16 On NH-944, From Thirupathisaram toll Plaza to Parvathipuram NH-66/NH-944 Junction, Parvathipuram, Nagercoil.  A17 Parvathipuram, Nagercoil.	1	Ruby Landmark, Vandalur - Padappai - Wallaja Road, Oragadam Highway,	Kancheepuram	Regular	320	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
On NH32, ECR, between NH38 - NH32 Junction and NH32-MDR484/SH49 Junction, Arasadi, Tuticorin  Regular 180 Open DODO - 35 35 1225 32 120 DOL 15 5  A14 On SH42, between Rathinaam College Of Nursing, Aruppukkottai and TNSC Godown, Tamilpadi  A15 On NH44 between, Government High School, Sulakkarai, Virudhunagar, and Ramco Virudhunagar, Thammanayakkanpatti, Virudhunagar  A16 On NH-944, From Thirupathisaram toll Plaza to Parvathipuram NH-66/NH-944 Junction, Parvathipuram, Nagercoil.  A17 Parvathipuram, Nagercoil.	412	, ,	Perambalur	Regular	220	Open	DODO	-	25	25	625	32	105	DOL	15	5
Tamilpadi  Tamilpadi  On NH44 between, Government High School, Sulakkarai, Virudhunagar, and Ramco Virudhunagar  Regular  150  SC  CFS  24.8  35  35  1225  DOL  - 3  150  SC  CFS  24.8  35  35  1225  DOL  - 3  150  SC  CFS  24.8  35  35  1225  DOL  - 3  150  SC  CFS  24.8  35  35  1225  DOL  - 3  415  On NH44 between, Government High School, Sulakkarai, Virudhunagar, and Ramco Virudhunagar  Regular  150  OBC  DODO  - 35  35  1225  24  120  DOL  15  4  4  416  On NH-944, From Thirupathisaram toll Plaza to Parvathipuram NH-66/NH-944 Junction, Parvathipuram, Nagercoil.  Kanyakumari  Regular  190  Open  DODO  - 30  30  900  32  90  DOL  15  5	413		Tuticorin	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
Vidyalaya, Thammanayakkanpatti, Virudhunagar  416 On NH-944, From Thirupathisaram toll Plaza to Parvathipuram NH-66/NH-944 Junction, Parvathipuram, Nagercoil.  Kanyakumari Regular 125 OBC DDD0 - 35 35 1225 24 120 DDL 15 4	414		Virudhunagar	Regular	150	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
Parvathipuram, Nagercoil.	415		Virudhunagar	Regular	125	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
	416	On NH-944, From Thirupathisaram toll Plaza to Parvathipuram NH-66/NH-944 Junction,	Kanyakumari	Regular	190	Open	DODO	-	30	30	900	32	90	DOL	15	5
	417	On NH38, from Tholudur Bridge to Koothakudi Bridge, Koothakudi.	Cuddalore	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5

Part	SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	num Dimens a of the site **		l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
Part	1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
March Sanger Francisco   General Service Francisco   Gen				1 -	l	PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN	Type of Site	' '	Frontage	Depth (in	Area	working capital requirement for RO	required for RO infrastructure	Lots (DOL)	in Rs Lakhs	in Rs Lakhs
March 2   Marc	418		Chengalpattu	Regular	145	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
1932   Shift No.   1932   Shif	419		Tuticorin	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
Companies (Author)   Processing Companies (Linguis)   Processing	420	· · · · · · · · · · · · · · · · · · ·	Erode	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
Page	421		Dindigul	Regular	125	Open	DODO	-	35	35	1225	24	120	DOL	15	5
Sample   Control   Contr	422		Tiruchirappalli	Regular	130	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
Second   S	423		Thanjavur	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
Content   Cont	424		Salem	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
Personalar within toon limit other than PRS/R Troad.	425	_	Chengalpattu	Regular	115	Open	DODO	-	35	35	1225	24	120	DOL	15	5
1922   0.0 State   1925   19	426	On NH 716, From Pattabiram Rountana ORR, to Murugappa Polytechnic College, Avadi	Tiruvallur	Regular	150	OBC	DODO	-	30	30	900	32	105	DOL	15	4
Age	427	Perambalur within town limit otherthan NH/SH road.	Perambalur	Regular			CFS	30.4				- '	-		-	3
Consider Thummuchinampati within Virundhunggar district territory   Virundhunggar   100   Open   0.000     35   55   12.5   24   120   0.01   15   4	428		Erode	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
Constraint   Con	429		Virudhunagar	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
Act   Talk to Mail Fall May Acid Profession   Similar   Travallur   Regular   150   Open   D000   .   35   35   1225   33   120   D01   15   5	430	On SH-91, From SH-91/SH-180 Junction, Thingal Nagar (Via-Eraniel) to NH-66/SH-91	Kanyakumari		100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
A32   An Amage   An	431	On RHS of NH 16, RMK College of Engineering and Technology (RMKCET) Gummidipoondi	Tiruvallur	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
Madural   Madural - Auspuskotstal Mini Road, From Perlyar Nagar, Mandel Nagar, Mande	432	On NH136B, between Sri Margasagayar Sivan Temple, Moovalur and Police Check Post,	Mayiladuthurai	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
A34   Content of the Content of th	433	On SH-32, Old Madurai - Aruppukkottai Main Road, From Periyar Statue, Periyar Nagar,	Madurai	Regular	180	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
435   On NH381A, 7 Kmr from Vellakoll bus stand towards Muthur.   Tiruppur   Regular   120   Open   ODO0   -   35   35   125   24   120   ODO   15   5	434	On SH-40, Tenkasi - Ambasamuthiram Road, From SH-39/SH-40 Junction, Tenkasi to	Tenkasi	Regular	100	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
On NH 85, from NH 183 - Uthmappalalyam- Kuchanoor-Theni Road From River Bridge, Theni   School, Theni District To Theni Melapettal Hindu Nadar Uravimural Matriculation Higher Secondary   Theni   Regular   175   SC   CFS   24.8   35   35   1225	/35		Tirunnur	Regular	120	Onen	DODO	_	35	35	1225	24	120	DOI	15	5
A36   District To Theni Melapettal Hindu Nadar Uravinmural Matriculation Higher Secondary   Theni   Regular   175   SC   CFS   24.8   35   35   1225     DOL     3   3   3   3   3   3   3   3	-33	·	παρραί	педини	120	Орсп	2020				1223		120	501	15	
A37   On SH 37 - From SH 37/NH 83 Junction To Sri Ramapuram Municipality Office, Kannivadi, Dindigul   Regular   100   OBC   DODO   - 35   35   1225   24   120   DOL   15   4   148   On NH32, from Marakkanam Road Junction, Tindivanam to Pravas Palace, Ormandur.   Villupuram   Regular   120   Open   DODO   - 35   35   1225   24   120   DOL   15   5   148   On NH44 between PGP Group of Educational Institutions and Vellore Police Checkpost at NH44 – SHU122 (Varanasi – Kanyakumari Road), Paramathi Velur, Namakkal   Regular   120   Open   DODO   - 35   35   1225   24   120   DOL   15   5   144   On NH44, From Shathiam Bethania Matriculation School, Kanniyakumari (Near NH-44   Kanyakumari Regular   Regular   120   SC   CFS   24.8   35   35   1225   - 3   DOL   - 30   SC   SC   SC   SC   SC   SC   SC   S	436	District To Theni Melapettai Hindu Nadar Uravinmurai Matriculation Higher Secondary	Theni	Regular	175	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
438 On NH32, from Marakkanam Road Junction, Tindivanam to Pravas Palace, Ommandur.  439 On NH34 between PGP Group of Educational Institutions and Vellore Police Checkpost at Namakkal  440 NH34 – SHU122 (Varanasi – Kanyakumari Road) Paramathi Vellury, Namakkal  440 On NH-44, From Santhitham Bethania Matriculation School, Kanniyakumari (Near NH-44 End) Paramathi Vellury, Namakkal  440 On NH-44, From Santhitham Bethania Matriculation School, Kanniyakumari (Near NH-44 End) Paramathi Vellury, Namakkal  441 Within municipal limits of Tambaramam (Not on NH)  442 On SH-179, From Kanniyakumari Bus Stand to SH-179/MDR-188 Junction, Puthalam.  443 On SH-110, From SH110A and SH121 Junction at Mambakkam to SGR Mahal Medavakkam.  444 Chengalpattu  445 On SH-33, Madurai - Sivagangai Road, From The Indian Public School, Karuppayurani to Fatima Michael College of Engineering and Technology, Madurai - Sivaganga Road, Madurai.  446 On SH-68, From Kamban Kalyana Mandapam, Anaikattu Main Rd, Thiruvennainallur to Government High School, Anathur Thiruvennainallur.  447 On SH-68, From Kamban Kalyana Mandapam, Anaikattu Main Rd, Thiruvennainallur to Government High School, Anathur Thiruvennainallur.  448 On SH-179, From Kamban Kalyana Mandapam, Anaikattu Main Rd, Thiruvennainallur to Government High School, Anathur Thiruvennainallur.  449 On SH-68, From Kamban Kalyana Mandapam, Anaikattu Main Rd, Thiruvennainallur to Government High School, Anathur Thiruvennainallur.  440 On SH-68, From Arcot Primary Health Centre to Arcot Sri Mahalakshmi  441 Raipet  442 On SH-68, From Arcot Primary Health Centre to Arcot Sri Mahalakshmi  444 Raipet  445 On SH-68, From Arcot Primary Health Centre to Arcot Sri Mahalakshmi  445 On SH-68, From Arcot Primary Health Centre to Arcot Sri Mahalakshmi  446 Raipet  447 On SH-68, From Arcot Primary Health Centre to Arcot Sri Mahalakshmi  448 Raipet  449 On SH-68, From Arcot Primary Health Centre to Arcot Sri Mahalakshmi  449 On SH-68, From Arcot Primary Health Centre to Arcot Sri Mahalakshmi  440 On SH-68, From	437	On SH 37 - From SH 37/NH 83 Junction To Sri Ramapuram Municipality Office, Kannivadi,	Dindigul	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
NH44 - SHU122 (Varanasi - Kanyakumari Road), Paramathi Velur, Namakkal   Regular   120   Open   DODO   - 35   35   1225   24   120   DOL   15   Secondary   Seco	438	On NH32, from Marakkanam Road Junction, Tindivanam to Pravas Palace, Ommandur.	Villupuram	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
440         On NH-44, From Santhitham Bethania Matriculation School, Kanniyakumari (Near NH-44)         Kanyakumari         Regular         120         SC         CFS         24.8         35         35         1225         -         -         DOL         -         3           441         Within muncipal limits of Tambaram (Not on NH)         Chengalpattu         Regular         400         OBC         DODO         -         20         400         32         105         DOL         15         4           442         On SH-179, From Kanniyakumari Bus Stand to SH-179/MDR-188 Junction, Puthalam.         Kanyakumari         Regular         100         Open         DODO         -         35         35         1225         24         120         DOL         15         5           442         On SH-179, From Kanniyakumari Bus Stand to SH-179/MDR-188 Junction, Puthalam.         Kanyakumari         Regular         100         Open CC-2         DODO         -         35         35         1225         24         120         DOL         15         5           443         On SH-110, From SH110A and SH121 Junction at Mambakkam to SGR Mahal Medavakkam.         Chengalpattu         Regular         110         Open CC-2         DODO         -         35         35         1225	439		Namakkal	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
441         Within muncipal limits of Tambaram (Not on NH)         Chengalpattu         Regular         400         OBC         DDDO         -         20         20         400         32         105         DOL         15         4           442         On SH-179, From Kanniyakumari Bus Stand to SH-179/MDR-188 Junction, Puthalam.         Kanyakumari         Regular         100         Open         DDDO         -         35         35         1225         24         120         DOL         15         5           443         On SH-179, From Kanniyakumari Bus Stand to SH-179/MDR-188 Junction, Puthalam.         Chengalpattu         Regular         110         Open CC-2         DDDO         -         35         35         1225         24         120         DOL         15         5           443         On SH-179, From Kanniyakumari Bus Stand to SH-121 Junction at Mambakkam to SGR Mahal Medavakkam.         Chengalpattu         Regular         110         Open CC-2         DDDO         -         35         35         1225         24         120         DOL         15         5           444         On SH-33, Madurai - Sivagangai Road, From The Indian Public School, Madurai - Sivaganga Road, Madurai.         Madurai         Regular         140         SC CC-1         CFS         24.8	440	On NH-44, From Santhitham Bethania Matriculation School, Kanniyakumari (Near NH-44	Kanyakumari	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
442         On SH-179, From Kanniyakumari Bus Stand to SH-179/MDR-188 Junction, Puthalam.         Kanyakumari         Regular         100         Open         DODO         -         35         35         1225         24         120         DOL         15         5           443         On SH110, From SH110A and SH121 Junction at Mambakkam to SGR Mahal Medavakkam.         Chengalpattu         Regular         110         Open CC-2         DODO         -         35         35         1225         24         120         DOL         15         5           444         On SH-33, Madurai - Sivagangai Road, From The Indian Public School, Karuppayurani to Fatima Michael College of Engineering and Technology, Madurai - Sivaganga Road, Madurai         Madurai         Regular         100         OBC CC-1         DODO         -         35         35         1225         24         120         DOL         15         4           445         On SH68, From Kamban Kalyana Mandapam, Anaikattu Main Rd, Thiruvennainallur to Government High School, Anathur Thiruvennainallur.         Villupuram         Regular         140         SC CC-1         CFS         24.8         35         35         1225         -         -         DOL         -         3           446         On SH4, (Arcot-Arni Rd) From Arcot Primary Health Centre to Arcot Sri Mahalakshmi Women's College Arts &	441		Chengalpattu	Regular	400	OBC	DODO	-	20	20	400	32	105	DOL	15	4
On SH-33, Madurai - Sivagangai Road, From The Indian Public School, Karuppayurani to Fatima Michael College of Engineering and Technology, Madurai - Sivaganga Road, Madurai.  Madurai Regular 100 OBC CC-1 DDDD - 35 35 1225 24 120 DDL 15 4  On SH68, From Kamban Kalyana Mandapam, Anaikattu Main Rd, Thiruvennainallur to Government High School, Anathur Thiruvennainallur.  Madurai Regular 140 SC CC-1 CFS 24.8 35 35 1225 DDL - 3  Madurai - Sivaganga Road, From The Indian Public School, Karuppayurani to Policy Indiana Public School, Madurai - Sivaganga Road, Mad	442	On SH-179, From Kanniyakumari Bus Stand to SH-179/MDR-188 Junction, Puthalam.	Kanyakumari	· ·	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
Fatima Michael College of Engineering and Technology, Madurai - Sivaganga Road, Madurai.  Madurai Regular 100 OBC CC-1 DODO - 35 35 1225 24 120 DOL 15 4  On SH68, From Kamban Kalyana Mandapam, Anaikattu Main Rd, Thiruvennainallur to Government High School, Anathur Thiruvennainallur.  Villupuram Regular 140 SC CC-1 CFS 24.8 35 35 1225 DOL - 36 25 25 25 25 25 25 25 25 25 25 25 25 25	443	On SH110, From SH110A and SH121 Junction at Mambakkam to SGR Mahal Medavakkam.	Chengalpattu	Regular	110	Open CC-2	DODO	-	35	35	1225	24	120	DOL	15	5
Government High School, Anathur Thiruvennainallur.  446 On SH4, (Arcot-Arni Rd) From Arcot Primary Health Centre to Arcot Sri Mahalakshmi Women's College Arts & Science  Regular 140 SC CC-1 CFS 24.8 35 35 1225 DOL - 3 35 35 1225 - DOL - 3 35 35 1225 - DOL - 3 35 35 1225 DOL	444		Madurai	Regular	100	OBC CC-1	DODO	-	35	35	1225	24	120	DOL	15	4
446 On SH4, (Arcot-Arni Rd) From Arcot Primary Health Centre to Arcot Sri Mahalakshmi Ranipet Regular 100 Open DODO - 35 35 1225 24 120 DOL 15 5	445		Villupuram	Regular	140	SC CC-1	CFS	24.8	35	35	1225	-	-	DOL	-	3
	446	On SH4, (Arcot-Arni Rd) From Arcot Primary Health Centre to Arcot Sri Mahalakshmi	Ranipet	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
	447	Within Kumbakonam Municipal Corporation Limits (Not on NH)	Thanjavur	Regular	100	Open	DODO	-	20	20	400	24	90	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	mum Dimens a of the site ( **	•		be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
448	On SH49A between, BSR Mall, Thoraipakkam and Regional Labour Institute, Sriram Nagar, Adyar.	Chennai	Regular	480	OBC	DODO	-	25	25	625	32	105	DOL	15	4
449	On SH68, From Sri Gangaimuthu Mariyamman temple, Cuddalore - Sankarapuram Rd, Sithalingamadam to Anjugam Thirumana Mahal, Andrayanar Bus Stop, Andarayanur.	Villupuram	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
450	On NH-44, Madurai - Salem Road, From Vadipatti Court to SS Marriage Mahal, Pandiarajapuram.	Madurai	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
451	On NH 48 (Bangalore-Chennai Hwy) From Vijay Residency to Ashok Mahal, Ambur.	Tirupathur	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
	On SH222, from Omalur SH222-SH86 Junction to 5 kms towards Macheri, Salem	Salem	Regular	115	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
453	On SH188 (Yercaud Main Road) between Circuit house, Salem and ZARAA School	Salem	Regular	120	Open	DODO	-	20	20	400	24	105	DOL	15	5
454	On Outer Ring Road, within 3 Kms from Outer Ring Road - SH86 at Tiruchengode towards  Kumaramangalam	Namakkal	Regular	100	SC	CFS	30.4	35	35	1225	-	-	DOL	-	3
455	On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor.	The Nilgiris	Regular	100	Open	DODO	-	20	20	400	24	90	DOL	15	5
456	On NH79 between NH79-NH179A Junction and NH79-NH44 Junction, Salem	Salem	Regular	150	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
457	On NH136B, between Tamilnadu Electricity Board - Sub Station, Vaitheeswarankovil and Signature hall the golden arcade, Mayiladuthurai.	Mayiladuthurai	Regular	120	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
458	On NH-38, Madurai - Thoothukudi Highway, From Chinthamani Toll Plaza, Madurai To Viraganoor ring road via NH-38.	Madurai	Regular	240	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
459	On NH-32, From Banu Matric Higher Secondary School, Sikkal To Saranya Matriculation School, Valinokkam.	Ramanathapuram	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
460	On SH44, 12 KMs from NH 38 and SH44 Junction, Ettayapuram towards Kovilpatti, Tuticorin Dist	Tuticorin	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
461	On NH383 between NH383-NH36 junction and Christhuraja Matriculation Higher Secondary School, Tirupathur	Sivaganga	Regular	175	Open	DODO	-	35	35	1225	32	120	DOL	15	5
1	On SHU-100, Bypass Road, Palanganatham - Maadakkulam main road, From Statue of Navalar Somasundara Bharathiyar, Palanganatham to Robert d Biblioteca Statue near Fathima college, Vilangudi.	Madurai	Regular	120	OBC	DODO	-	20	20	400	24	105	DOL	15	4
463	On ODR, From NH544-ODR junction to ODR-MDR623 Junction	Coimbatore	Regular	100	SC	CFS	55.2	35	35	1225	-	-	DOL	-	3
464	On New NH81, 5 kms from NH81 -NH36 at Meensurutty towards Kandamangalam, Chettithangal.	Cuddalore	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
465	On NH 383, between Government Industrial Training Institute (Men), Sastri Nagar, Suba Nagar and St.Antony's HR. SEC. School, Kosavapatti.	Dindigul	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
466	On NH 83, From Tamil University, Thanjavur to Gnanam School of Business, Sengipatti.	Thanjavur	Regular	200	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
467	On MDR670, between Govt Middle School Thirumayladi, and Government Library Thandavankulam, Madathukuppam,	Mayiladuthurai	Regular	110	ST	CFS	30.4	35	35	1225	-	-	DOL	-	3
468	On NH179D between, Jai Ramesh marriage hall A/c, Chepet and Government Higher Secondary School, Indaravanam, Tiruvannamalai.	Tiruvannamalai	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
469	On SH57 (Sriperumbudur High Rd), Between Caterpillar India Pvt Ltd and Mannur 4 Road junction (SH57-SH50B).	Tiruvallur	Regular	185	Open	DODO	-	35	35	1225	32	120	DOL	15	5
470	On SH 121 (Vandalur to Kaelambakkam Rd), From Govt. Primary Health Cente, Kelambakkam to Advanced Institute for Wildlife Conservation, Vandalur.	Chengalpattu	Regular	300	OBC PH	DODO	-	20	20	400	32	105	DOL	15	4
471	On SH29 between Suthanthira Polytechnic College and Sri Venkateswara Theatre, Kalayarkoil	Sivaganga	Regular	120	SC PH	CFS	24.8	35	35	1225	-	-	DOL	-	3
472	On NH-744, Thirumangalam - Kollam Road, From Government Siddha Hospital, Kadayanallur to NH-744/SH-39A Junction, Ena Lilakku, Kodikurichi.	Tenkasi	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
473	On NH-32, between NH-32/SH-26 Junction at Embakottai, Nattanipurasakudi and Government High School, Jegathapattinam.	Pudukottai	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
474	On SHU-217, between Telc Zion Jublie Church, Pudukottai and Government Medical College and Hospital, Pudukottai.	Pudukottai	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
475	On SH-44, From SH-41/SH-44 Junction, Paruvakkudi to SH-44/MDR-408 Junction, Thiruvenkadam.	Tenkasi	Regular	100	Open	DODO		35	35	1225	24	120	DOL	15	5
476	On New NH81, 15 kms from Kuppankuzhi Pond, Kattumannarkoil towards Chidambaram	Cuddalore	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
477	On SH95, within 4 Kms from Arvinth Hospital, Namakkal towards Muthugapatti	Namakkal	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	M.)/Area of the site (in S		•	I	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
478	On SH-71, 5 Kms From Sri Subabharathi Matric High School, Kallangudi towards Vadakadu.	Pudukottai	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
479	On SH217, between SRM College of Education (B.Ed) Ariyalur and Anganwadi Center, Rayampuram.	Ariyalur	Regular	390	Open	DODO	-	35	35	1225	32	120	DOL	15	5
480	On SH216, from SH216-SH140 junction to Masjith-e-noor, Solatharam, Thimmasamuthiram.	Cuddalore	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
481	On SH 257/258 Road, Between Assistant director of Agricultural Office, Alathurgate and Little Flower School, Chettikulam,	Perambalur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
482	On SH60, From Government Higher Secondary School, Sundharampalli to Kunichi Govt. Hospital, Nariyaneri.	Tirupathur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
483	On NH-38, From NH-38/SH-71 Junction, Viralimalai to Government ITI, Viralimalai.	Pudukottai	Regular	120	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
484	On SH58, between Narasimma Pallavan Polytechnic College, White Gate, Thimmasamudaram, Kanchipuram and Takkolam Bridge Cabin, Ammanur.	Kancheepuram	Regular	140	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
485	On SH-201, 10 Kms From SH-201/MDR-729 Alavayal Junction, Konaiyur towards Pudukottai.	Pudukottai	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
486	On SH167, between SH167-SH164 Junction (Edayarpalayam Junction) to Bharathiar University.	Coimbatore	Regular	185	Open	DODO	-	35	35	1225	32	120	DOL	15	5
487	On SH-39, From SH-39/SH-39B Junction, Kaluneerkulam to Maranthai toll Plaza, Maranthai. (Tenkasi - Tirunelveli Border)	Tenkasi	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
488	On SHU87, between Police help Booth, Madhavaram and Vyasarpadi Market, Chennai.	Chennai	Regular	220	OBC	DODO	-	25	25	625	32	105	DOL	15	4
489	On NH38, between Annai Public School, Paadalur and Commercial Tahsildar Office, Alathur.	Perambalur	Regular	190	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
490	On NH32, from Velakudi bridge, Vallampadugai to Government Arts & Science College, C. Mutlur.	Cuddalore	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
491	ON NH32 / MDR 936, from Tiruchendur Bus Stand to Arumuganeri Junction (SH176/NH32/MDR936 Junction)	Tuticorin	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
492	On SH66 (Kumbakkonam-Mannargudi Rd), From TNSTC BUS DEPOT, Mannargudi to KNS mahal.	Tiruvarur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
493	On NH83, between Karpagam Academy of higher Education and Sub register Kinnathukadvu.	Coimbatore	Regular	120	OBC CC-1	DODO	-	35	35	1225	24	120	DOL	15	4
494	On SH161, between Thathaiyangarpet Bus Stand and SH161 - SH30 Junction, k.palayam	Tiruchirappalli	Regular	100	SC CC-1	CFS	24.8	35	35	1225	-	-	DOL	-	3
495	On SH146 (Pattukottai Rd), From SH146-SH63 Junction to Panchayat Assembly Office, Melathirupalakudi	Tiruvarur	Regular	140	Open PH	DODO	-	35	35	1225	32	120	DOL	15	5
496	On SH-39A, From Arulmigu Sivakami Ambal Sametha Sivagurunathar Alayam, Surandai to NH-744/SH-39A Junction, Ena Vilakku, Kodikurichi.	Tenkasi	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
497	On SH 50B (Thandolam-Perambakkam-Takkolam Rd), From SH50B-SH58 junction to Takkolam Water Pumping Station.	Ranipet	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
498	On NH-85, Kochi-Madurai-Tondi Point Road, From Upgraded Government Primary Health Center - Checkanurani To Chellampatty Government High School, Chellampatty.	Madurai	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
499	On SH217 between, SRI RAM THIRUMANA MANDAPAM and Sengunthar Kalyanana mandapam, Sengunthapuram.	Ariyalur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
500	On NH38, Between Shri Amman Temple, Peraiyur and Vembu Ayyanar amma Temple entrance, Thirumandurai.	Perambalur	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
501	On NH 716, From Indira Medical College and Hospitals, Pandur to District Collector Office, Tiruvallur	Tiruvallur	Regular	175	Open	DODO	-	35	35	1225	32	120	DOL	15	5
502	On NH 87, From ECR Round about Pattinamkathan, Ramanathapuram (NH-87/NH-32/SHU Junction) to NSA Saw Mill, Peravoor (NH-87/NH-536 Junction).	Ramanathapuram	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
1	On NH 87, From NH87-NH536 ECR Junction (East coast & Ramanthapuram Melur Road junction ), via Syed Ammal Public school to NH 87- SHU (Old NH 49) Cochin Madurai Dhanushkodi Road Junction.	Ramanathapuram	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
504	On SH123, (Kalavai - Valapandal Rd) From SH123-MDR505 Junction (Mambakkam Junction) to Sub Registrar Office, Kalavai	Ranipet	Regular	100	OBC	DODO		35	35	1225	24	120	DOL	15	4
505	On NH948, 9 Kms from Annur Taluk office towards Puliampatti.	Coimbatore	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	M.)/Area of the site (in Sq. M.)		l	pe arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit	
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
506	On SH49 between, PVR Heritage RSL ECR Chennai and Sri Raja Rajeswari Temple, Neelankarai.	Chennai	Regular	265	Open CC-1	DODO	-	25	25	625	32	105	DOL	15	5
507	On SH40, 5 KMs from SH40 and MDR286 Junction, Nallur towards Tirunelveli	Tuticorin	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
508	On NH 183 -Chennai - Theni Highway- From Sempatti Bus Stand, Sempatty To Palmar Mills Pvt Ltd	Dindigul	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
509	On NH381B between, Vetri Vinayaha Polytechnic College, Tholurpatti and Arulmigu Kokku Vettiyan Sri Karuppanna Swamy Temple.	Tiruchirappalli	Regular	125	Open	DODO	-	35	35	1225	24	120	DOL	15	5
510	On NH-38, Madurai - Thoothukudi Highway, 8 Kms From Nagarathinam Angalammal Arts and Science college, Valayankulam towards Kariyapatti.	Madurai	Regular	180	Open	DODO	-	35	35	1225	32	120	DOL	15	5
511	On NH136, between Mathur Maruthayan kovil, Marudhaiyan Kovil Bus Stop and MST Mahal, Kunnam.	Perambalur	Regular	190	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
512	On SHU136 Road within Sirkali Town limit	Mayiladuthurai	Regular	100	SC	CFS	24.8	25	25	625	-	-	DOL	-	3
513	On MDR821 Sarkarapalayam - Kallanai Road, between NH38 -MDR821 Junction and MDR306 - MDR821 Junction	Tiruchirappalli	Regular	170	Open	DODO	-	35	35	1225	32	90	DOL	15	5
514	On SH56 between, Thiruvalluvar Bridge, Edayanchavadi and SH2 - SH 56 Junction, Manali	Chennai	Regular	250	Open	DODO	-	25	25	625	32	105	DOL	15	5
515	On SH257 Road, between Rural Health Centre, Senjeri and Govt. Primary health Centre, Chathiramanai	Perambalur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
516	On Thanjavur-Kumbakkonam Main Road (Not on NH), From Roundabout at Palliyagraharam to St.Marys Matriculation School	Thanjavur	Regular	100	SC	CFS	30.4	35	35	1225	-	-	DOL	-	3
517	On NH42, between TNEB Office Vertanapalli and NH42-AH45 Junction, Krishnagiri On NH183, between Batlagundu Bypass Rd- NH183 Junction and NH183-SH156 Junction	Krishnagiri	Regular	140	Open	DODO	-	35	35	1225	32	120	DOL	15	5
518	(Kodaikanal Ghat Road Junction)	Dindigul	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
519	On SH58, From Kalpakkam - Edaiyur roundabout to Mullikolathur VAO office	Chengalpattu	Regular	140	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
520	On NH-744, Thirumangalam - Kollam Road, From Seventh Day Adventist Matriculation Higher Secondary Scholl, Puthukudi, Puliyangudi to King Universe Matriculation Higher Secondary School, Krishnapuram, Kadaiyanallur.	Tenkasi	Regular	140	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
521	On SH29 between Karaikudi Old Bus Stand and SH29-NH536 Junction, Karaikkudi	Sivaganga	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
522	On SH79 (Attur – Rasipuram Road) between Rasipuram New Bus Stand, Rasipuram and Namagiripettai Bus Stand, Namakkal	Namakkal	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
523	On SH15, within 10 Kms from Nehru Park, Kothagiri towards Mettupalayam.	The Nilgiris	Regular	120	Open	DODO	-	20	20	400	24	105	DOL	15	5
524	On NH 83 - Trichy - Dindugal Road, From Pannai College of Pharmacy, Mullipadi, Tamaraipadi To Bannariamman Spinning Mills Unit 3.	Dindigul	Regular	200	Open	DODO	-	35	35	1225	32	120	DOL	15	5
525	On NH44 between Ganyamani Educational Institutions, Pachal and R.G.R. Matric Hr. Sec. School, Puduchatram, Namakkal	Namakkal	Regular	190	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
526	On SH-40, From Kallidaikurichi Railway Station, Kallidaikurichi to TNEB, Sub Station, Veeravanallur.	Tirunelveli	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
527	On NH181, 8 Kms from Mettupalayam bus stand to Sri Ravi Ram kalyanMandapam Karamadai .	Coimbatore	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
528	On SH-46, From Thovalai Registration Office, Thovalai to SH-46/NH-944 Junction Near Hotel Thazhakudy Neelakandan, Therakalputhoor	Kanyakumari	Regular	220	Open	DODO	-	35	35	1225	32	120	DOL	15	5
529	On SH131 (Bargur-Tirupathur Rd), From Sri Samundeeswari Food Products Pvt Ltd, Nariyaneri to Shri Amrita Higher Secondary School	Tirupathur	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
530	On SH188, within 2 Kms from Yercaud Lake Bus Stop towards Salem On NH 44. From A.P.A. College Of Arts and Science, Vaigaikulam (Opposite to Industrial It.	Salem	Regular	100	OBC	DODO	-	20	20	400	24	105	DOL	15	4
531	On NH-44, From A P A College Of Arts and Science, Vaigaikulam (Opposite to Industrial It Park - Vaigaikulam) to Post Office, Dalapathi Samudram.	Tirunelveli	Regular	175	Open	DODO	-	35	35	1225	32	120	DOL	15	5
532	On SH182 between, TNEB Erichanatham Substation and Sengunrapuram Bus Stop, Virudhunagar	Virudhunagar	Regular	110	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
533	On SH-45, 10 Kms From Thittuvalai Jumma Masjid, Thittuvalai towards Kulasekharam.	Kanyakumari	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
534	On NH 79 (Salem-Ulundurpet Hwy), 10 Kms From Mount Park Special Academy Matric Hr Sec School, Periyammpattu, towards Elavarasankottai.	Kallakurichi	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
535	On NH332A, From HIMT College to Poonjeri Junction (NH332A-SH49B-SH49A-SH49)	Chengalpattu	Regular	145	Open	DODO	-	35	35	1225	32	120	DOL	15	5
536	On NH44, 11 kms from Karur Tamilnadu State Transport Corporation office, towards Velayuthapalayam	Karur	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	mum Dimens a of the site ( **	•	l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
537	On SH205 between, Rakki Cinemas, Ambattur and Puzhal Camp Signal, Kadirvedu.	Chennai	Regular	590	OBC	DODO	-	25	25	625	32	105	DOL	15	4
538	On SH165, between Sh165-SH80 Junction near Annur and SH165-NH544 Junction at Karumathapatti	Coimbatore	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
539	On NH-87, From Government Hospital, Uchipuli To Raja Matric Higher Secondary School, Vedalai.	Ramanathapuram	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
540	On NH 87, From PINS Parundu Bus Stop, Vattanvalasai, Uchipuli to Government Vetinery Hospital, Uchipuli.	Ramanathapuram	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
541	On SH Road, Within Tiruchirappalli City Municipal Corporation	Tiruchirappalli	Regular	280	OBC	DODO	-	25	25	625	32	105	DOL	15	4
542	On NH38, 7KM from SH71A-NH38 junction Thuvarankurichi towards Madurai within Tiruchirappalli district limit.	Tiruchirappalli	Regular	125	Open	DODO	-	35	35	1225	24	120	DOL	15	5
543	On SH12, between Pandalur bus stand and TN-Kerala border at Choladi Bridge.	The Nilgiris	Regular	120	SC CC-1	CFS	24.8	20	20	400	-	-	DOL	-	3
544	On NH83, 9 Kms from Pollachi head post office to VVDN Technolgies Manufacturing	Coimbatore	Regular	120	Open-CC2	DODO	_	35	35	1225	24	120	DOL	15	5
545	Thippampatti On NU1991 4 Kees from leath has ston towards Onto			120	OBC CC-1	DODO		20	20	400	24		DOL	15	4
	On NH181, 4 Kms from ketti bus stop towards Ooty. On SH76, from NH44/SH76 Junction, Nallatinputhoor to SH 76/SH187 Junction,	The Nilgiris	Regular				-					120			
546	Kazhugumalai	Tuticorin	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
547	On SH15, between Tamilnadu Warehousing Corporation, Gobichettipalayam and KPR Mill Limited, Indiampalayam	Erode	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
548	On SH122 (Vellore-Odugathur Rd), From Purachithalaivar Dr. MGR Govt. Arts and Science College to Govt Hospital, Anaicut.	Vellore	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
549	On ODR, between MGM Healthcare, Malar Hospital, Adyar and Chennai Lighthouse, Marina Beach Road.	Chennai	Regular	240	Open	DODO	-	25	25	625	32	105	DOL	15	5
550	On SH-40B, Ambasamuthiram - Alangulam Road, 5 Kms From SH-40B/SH-41A Junction, Edaikal towards Alangulam.	Tirunelveli	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
551	On NH32 (East Coast Road) From Police Station, Muthupettai to Millennium Matriculation School, Nachikulam	Tiruvarur	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
552	On SH5 between, AIMS CBSE School, Arcot Rd, Alathur, Cheyyar and Naalanda Public School, Pullavakkam.	Tiruvannamalai	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
553	On NH 183- Kollam -Theni Highway- From Upparpatti Toll Plaza To NH 183- SH 220 Junction, Chinnamanur (near Chinnamanur Sub-Registrar Office)	Theni	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
554	On NH32 from Shri Natarajan Memorial public school, Karaimedu till Kollidam New Bridge within Mayiladuthurai district limit.	Mayiladuthurai	Regular	125	Open	DODO	-	35	35	1225	24	120	DOL	15	5
555	On NH 183, From India Post Office, Uthamapalayam To NH 183/SH 36 Junction, Kambam (Kumuli Road) Section Junction.	Theni	Regular	190	OBC	DODO	-	35	35	1225	32	120	DOL	15	4
556	On NH532, From Upgraded Urban Government Primary Health Center, Vadalur R.F to Umangalam EB substation, U.Agaram.	Cuddalore	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
557	On NH road, Within Municipal Limits of Nagapattinam	Nagapattinam	Regular	120	Open	DODO	-	30	30	900	24	120	DOL	15	5
558	On SH-26, From Government Polytechnic College, Aranthangi to St. Joseph's Matric Higher Secondary School, Avudaiyarkoil.	Pudukottai	Regular	100	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
559	On NH44 between NPR Matriculation Higher Sec School, and Sudha motors Kondalampatti, Salem	Salem	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
560	On SH124A, From Upgraded Primary Health Centre, Lalapet to C.S.I Good Shepherd Church, Konankuppam.	Ranipet/Vellore	Regular	140	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
561	On SH60A (Morappur – Harur Road) within 5 Kms From SH60A-NH179 Junction near Harur government hospital towards Morappur, Dharmapuri	Dharmapuri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
562	On NH-179B, From NH 179B-NH77 junction (Tindivanam Bus stand) to NH132-SH136 Junction (Mailam Bridge, Chennai - Theni Hwy, Kutteripattu )	Villupuram	Regular	160	Open	DODO	-	35	35	1225	32	120	DOL	15	5
563	On SH224 (Nagadhasampatti Papparapatti Road) between Goverment School alamarathupatti and Papparapatti Bus Stand, Papparapatti, Dharmapuri	Dharmapuri	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
564	On MDR426 between, Sri Nageswaramudayar Swamy Temple, Sirkazhi and Government Primary Health Cenre, Thirumullaivasal.	Mayiladuthurai	Regular	100	Open	DODO	-	35	35	1225	24	90	DOL	15	5
565	On NH948, 12 kms from Prozone mall to G Square Neelavanam,Kovilpalayam.	Coimbatore	Regular	190	ST	CFS	24.8	35	35	1225	-	-	DOL	-	3
566	On SH117 (Maduranthkam-Vennangupattu Rd), between Gurukulam Boys High School and Saint Joseph Auditorium.	Chengalpattu	Regular	165	Open	DODO	-	35	35	1225	32	120	DOL	15	5

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *		num Dimens a of the site (	•	l	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
567	On SH61A (Ranipet-Sholinghur Rd) From T M Abdul Rahman & Sons to TSR Mahal A/c, Walaja Road near Railway crossing.	Ranipet	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
568	ON NH-785, 7 Kms From Jumma masjid, Idaiyapatti, Natham towards Madurai.	Dindigul	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
569	On NH79, 16 Kms from Periyakrishnapuram Bus stom to Vashista river bridge,Salem	Salem	Regular	120	SC PH	CFS	24.8	35	35	1225	-	-	DOL	-	3
570	On SH233 (Kalapatti main road), between SH233-MDR119 Junction at Kurumbapalayam and SH233-Avinashi Road Junction near Coimbatore Airport.	Coimbatore	Regular	155	OBC PH	DODO	-	35	35	1225	32	120	DOL	15	4
571	On SH113, between Kamala Cinemas, Vadapalani and Aksharas Veg Restaurant, Madhanandapuram.	Chennai	Regular	200	Open	DODO	-	25	25	625	32	105	DOL	15	5
572	On NH 83 - Dindigul-Palani Highway, From Anna University Dindigul, Silvarpatti To DDHS Office, Dindigal, Kottapatti, Kurumbapatti	Dindigul	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
573	On SH95 within 4 Kms from Mohanur Bus Stand towards Namakkal	Namakkal	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
574	On SH25, between Mahalakshmi college of Nursing, Killiyanallur and Thirumurugan Mandabam, Nochiyam.	Tiruchirappalli	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
575	On SH78, 8 Kms from SH78-Railway crossing junction to ICMH Church Kariyanchettipalayam	Coimbatore	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
576	On New NH-66, From Kalliancaud Lord Shiva Temple, Chunkankadai to SH-194/ New NH-66 Junction, Putheri.	Kanyakumari	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
577	On SH 27, From Amrita Vidyalayam to Thamarai International School, Thanjavur	Thanjavur	Regular	110	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
578	On NH79, 12 Kms from Natthakari Toll Plaza to Thalaivasal, Salem	Salem	Regular	125	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
579	On SH60A, between SH60A – SH60 Junction and Government Primary Health Center, Solaikkottai, Dharmapuri	Dharmapuri	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
580	On MDR/ODR road, Within Municipal Limits of Nagapattinam	Nagapattinam	Regular	190	Open	DODO	-	25	25	625	32	90	DOL	15	5
581	On SH22, between Thirupathi Amman Temple, Villiyanallur and VKS Thirumana Mandabam, Mappadugai, Sholampettai	Mayiladuthurai	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
582	On SH186 PAC Ramasamy Raja Salai Road, between P.A.C.R.Ammani Ammal's Girls Higher Secondary School, Rajapalayam and Arumugham Spinning Mills Ltd, Satti Kinaru	Virudhunagar	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
583	On NH-36, between NH-36/SHU-157 Junction Near Infant Jesus Church and Lembalakudi toll Plaza.	Pudukottai	Regular	120	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
584	On SH-90, From Marthandam Police Station to Sree Mookambika Institute Of Medical Sciences, Kulasekharam.	Kanyakumari	Regular	120	Open CC-1	DODO	-	35	35	1225	24	120	DOL	15	5
585	On SH141, From Vagaiyur Government. School, Vagaiyur to Pennadam railway bridge, Eraiyur.	Cuddalore	Regular	105	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
586	On NH 716 A, 10 kms from Safexpress Pvt. Ltd., No.82, Panapakkam Village towards Janppanchatraam	Tiruvallur	Regular	150	Open	DODO	-	35	35	1225	32	120	DOL	15	5
587	On SH54, From Panchayat Union office, Sholinghur to SS.MAHAL, within Tiruvallur dsitrict Limits.	Tiruvallur/Vellore	Regular	150	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
588	On NH44, within 6 Kms from Additional Collector Bungalow, Dindigul towards Vadasanur	Dindigul	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
589	On NH 85 -Chinnamanur-Pulikuthi-Bodinayakanur-Munnar Road, From Spices board E auction centre, Kurangani Road, Bodinayakanur To NH 85-MDR 58 Junction, Munthal	Theni	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
590	On SH57, From C.S.I. Hospital, Ikkadu to IndoSpace Industrial & Logistic Park Vishnuvakkam,	Tiruvallur	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
591	On SH111 between, ALP International Basmathi rice distributors, Vadaperumbakkam and Moolakadai Metro station.	Chennai	Regular	100	Open	DODO	-	25	25	625	24	105	DOL	15	5
592	On SH165, between DTDC Couriers & Cargo Ltd Karumathampatti and SH165-NH81 Junction at Karanampettai.	Tiruppur	Regular	150	SC CC-1	CFS	24.8	35	35	1225	-	-	DOL	-	3
593	On SH164, 12 Kms from SH164-SH167 Junction (Edayarpalayam Jn) towards Anaikatti.	Coimbatore	Regular	135	OBC CC-1	DODO	-	35	35	1225	24	120	DOL	15	4
594	On SH29 between Arulmigu Rajendra Choleeswarar Siva Temple, Ilayangudi and SH29-MDR975 Junction towards Kalayakoil	Sivaganga	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
595	On NH32/SH176, 15 KMs from Tuticorin harbour Port Bridge (NH38/NH138 and NH32/SH176 Junction), Tuticorin towards Tiruchendur	Tuticorin	Regular	120	Open PH	DODO	-	35	35	1225	24	120	DOL	15	5
596	On SH166, 7.5 Kms from Cosmo Cinemas, Avinashi towards Puliampati within Tiruppur district	Tiruppur	Regular	140	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3

Part		Mode of Selection	pe arranged by ant in Rs Lacs		•	mum Dimens a of the site **	1	Rent per month in Rs. Per Sq.m - *	Type of site	Category	Estimated monthly sales potential #	Type of RO	District	Name of the Location
Part   March   March	) 11	10	9b	9a	8c	8b	8a	7a	7	6	5	4	3	2
Section   Control   Cont	in Rs Lakhs	Lots (DOL)	required for RO infrastructure	working capital requirement for RO	Area	Depth (in	Frontage	1 ' ' ' '	Type of Site	PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN		1 .		
	L 15	DOL	120	24	1225	35	35	-	DODO	ОВС	100	Regular	Ranipet	
Section   Sect	L 15	DOL	120	24	1225	35	35	-	DODO	Open	120	Regular	Erode	l'
500   Con 9-1922, 20 (MAR Form Sel 1-22/2014 1-228 function, Alagopard Insource Chinemensum.   There   Regular   100   SC   C15   2.48   33   50   1225   2.4   130   001	L 15	DOL	120	24	1225	35	35	-	DODO	OBC	100	Regular	Perambalur	
Metagearm. Tenhasis In NHT-24/S14-30 Junction, Prizance   Tenhasis In NHT-24/S14-30 Junction, Prizance   Tenhasis In NHT-24/S14-30 Junction   Tenhasis International Programs   Tenhasis International Programs		DOL	-	-	1225	35	35	24.8	CFS	SC	100	Regular	Theni	' '
Col. Mod 119, From MOD113-NH1738/NH173 Junction via Golvendacamy Arts college Road to Sist. Mod113-Indicatin, Partner, Trindownson.	L 15	DOL	120	24	1225	35	35	-	DODO	Open	100	Regular	Tenkasi	
Control   Cont	L 15	DOL	90	24	1225	35	35	-	DODO	Open	100	Regular	Villupuram	On MDR 119, From MDR119-NH179B/NH32 junction via Govindasamy Arts college Road to
Social Content of the Content of t	L 15	DOL	120	32	1225	35	35	-	DODO	Open	200	Regular	Tiruvallur	On NCTPS Road, Either Side NCTPS to SH56 junction, starting from NCTPS main gate till
605   00   5415,12 kms from Gobi bust stand to Canarte bank Kasipalyaran   Forde   Regular   100   SC   CfS   24.8   35   35   1225   32   120   DOL	L 15	DOL	120	24	1225	35	35	-	DODO	OBC	100	Regular	Pudukottai	On SH-71, 10 Kms from Pushkaram College of Agricultural Sciences, Pudukottai towards
Section   Processing   Proces		DOL		_	1225	35	35	24.8	CES	SC	100	Regular	Frode	
The Chur Koot Road			120	22				20						
On SH229 between Sub-Registrar Office: Kalayarkovil and TNEB Sub-Station,   Sivaganga   Regular   110   OBC   DODO   .   35   35   1225   24   120   DOL	L 15	DOL	120	32	1225	35	35	-	DODO	Open	150	Regular	Hruvallur	,
Marayamangalam   Narayamangalam   Narayamangalamangalam   Narayamangalam   Narayamangalamangalam   Narayamangalamanga	L 15	DOL	120	24	400	20	20	-	DODO	Open CC-1	120	Regular	The Nilgiris	
On NH-744, Tenkasi - Kollam Road, From NH-744/NDR-923 Junction Near Thangamayil   Tenkasi   Regular   120   Open   DODO   - 35   35   1225   24   120   DOL	L 15	DOL	120	24	1225			-	DODO		110		Sivaganga	Maravamangalam
	L -	DOL		-	1225	35	35	24.8	CFS	SC	100	Regular	Dindigul	,
Rest House, Kodiyakarai	L 15	DOL	120	24	1225	35	35	-	DODO	Open	120	Regular	Tenkasi	Jewellery, Tenkasi to NH-744/SH-39A/MDR-154 Junction, Ilanji.
Sankarapuran to Veterinary dispensary, Kosappadi.   Kallakurich   Kegular   100   Open   0000   - 35   35   1225   24   120   001	L 15	DOL	120	24	1225	35	35	-	DODO	OBC	100	Regular	Nagapattinam	Rest House, Kodiyakarai
Naramangalathupatti	L 15	DOL	120	24	1225	35	35	-	DODO	Open	100	Regular	Kallakurichi	Sankarapuram to Veterinary dispensary, Kosappadi.
615 On SH 106, From Govt High School, Keechalam to Tiruthani Fire and Rescue Station.  616 Within Municiapl Limits of Vellore (Not on NH)  617 On OMR By pass Road, From Thiruporur Roundabout to Thandalam Road Bypass section  618 On SH 240, (Vellore Ring Road), From Holy Queen Matric School, Vellore to NH38-SH240 yellore  619 On SH240, (Vellore Ring Road), From Holy Queen Matric School, Vellore to NH38-SH240  619 Junction at Sathumadurai.  619 On NH44, 4 kms between NH44-NH79 Junction and Panjayat Office Gajjanaickenpatti,  619 Salem  620 On SH 23 Road within Mayiladuthurai Municipal limit  621 On NH31, between Gudalur Bus stand and Gudalur district forest office.  622 On NH31, between Gudalur Bus stand and Gudalur district forest office.  623 On NH381, 14 Kms towards Tiruppur from Avinashipalayam to Palavanjipalayam bus stand  624 On SH31, 14 Kms towards Tiruppur from Avinashipalayam to Palavanjipalayam bus stand  625 On SH139 between, Raaj Bhaavan Clarks Inn Chennai OMR, Thoraipakkam and The Park, Kovilambakkam.  636 Ariyalur Pagular 180 Open DODO - 25 25 25 625 32 105 DOL  647 On SH109 between, Raaj Bhaavan Clarks Inn Chennai OMR, Thoraipakkam and The Park, Kovilambakkam.  648 Ariyalur Regular 180 Open DODO - 35 35 35 1225 32 120 DOL  649 On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam  650 On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam  651 On SH199 between, Ariyalur District Collector Office and Post Office Nagamangalam  652 On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam  653 On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam  654 On SH109 between, Ariyalur District Collector Office and Post Office Nagamangalam  655 On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam  656 On SH129 between, Ariyalur District Collector Office and Post Office Nagamangalam	L 15	DOL	120	24	1225	35	35	-	DODO	Open	120	Regular	Salem	
Fig.	L -	DOL	-	-	1225	35	35	24.8	CFS	SC	340	Regular	Ariyalur	On NH81, between Shri Balaji Solar Plant 2, Keelaiyur and Vinayaga Public school, Karuppur
Chengalpattu   Regular   250   Open   DODO   - 35   35   1225   32   120   DOL								-				<del></del>		
Chengaipattu   Regular   250   Open   DOU   - 35   35   1225   32   120   DOL	L 15	DOL	90	32	400	20	20	-	DODO	Open	160	Regular	Vellore	
big junction at Sathumadurai.  On NH44,4 kms between NH44-NH79 Junction and Panjayat Office Gajjanaickenpatti , Salem Regular 120 OBC DDDO - 35 35 1225 24 120 DDL Salem  Regular 120 OBC DDDO - 35 35 35 1225 24 120 DDL DDL DDL - 35 35 35 1225 24 120 DDL DDL DDL - 35 35 35 1225 24 120 DDL DDL DDL DDDO - 25 25 25 625 24 105 DDL DDL DDD - 20 20 400 24 120 DDL DDL DDL DDD - 20 20 400 24 120 DDL DDL DDL DDD - 20 20 400 24 120 DDL DDL DDL DDD - 20 20 400 24 120 DDL DDL DDL DDL DDD - 20 20 400 24 120 DDL DDL DDL DDL DDD - 20 20 400 DDD - 20 20 400 DDL DDL DDL DDL DDL DDL DDL DDL DDL D	L 15	DOL	120	32	1225	35	35	-	DODO	Open	250	Regular	Chengalpattu	
Salem Salem Salem Salem Salem Regular 120 OBC DDDD - 35 35 1225 24 120 DDL 620 On SH 23 Road within Mayiladuthurai Municipal limit On SH 23 Road within Mayiladuthurai Municipal limit On NH181, between Gudalur Bus stand and Gudalur district forest office. The Nilgiris Regular On NH44 between, V. V. Vanniyaperumal college for women, Virudhunagar and Virudhunagar Medical College On NH381, 14 Kms towards Tiruppur from Avinashipalayam to Palavanjipalayam bus stand Tiruppur Regular 120 OBC DDDD - 25 25 625 24 120 DDL 622 On NH381, 14 Kms towards Tiruppur from Avinashipalayam to Palavanjipalayam bus stand Tiruppur Regular 120 SC CFS 24.8 35 35 1225 24 120 DDL 624 On SH109 between, Raaj Bhaavan Clarks Inn Chennai OMR, Thoraipakkam and The Park, Kovilambakkam. Chennai Regular 400 Open DDDD - 25 25 625 32 105 DDL 625 On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam Ariyalur Regular 180 Open DDDD - 35 35 1225 24 120 DDL	L -	DOL	-	-	1225	35	35	24.8	CFS	SC	130	Regular	Vellore	junction at Sathumadurai.
621 On NH181, between Gudalur Bus stand and Gudalur district forest office.  The Nilgiris Regular 120 Open DODO - 20 20 400 24 120 DOL  G22 On NH44 between, V. V. Vanniyaperumal college for women, Virudhunagar and Virudhunagar Medical College  Virudhunagar Medical College  G23 On NH381, 14 Kms towards Tiruppur from Avinashipalayam to Palavanjipalayam bus stand Tiruppur Regular 120 SC CFS 24.8 35 35 1225 DOL  G24 On SH109 between, Raaj Bhaavan Clarks Inn Chennai OMR, Thoraipakkam and The Park, Kovilambakkam.  Chennai Regular 400 Open DODO - 25 25 625 32 105 DOL  G25 On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam Ariyalur Regular 180 Open DODO - 35 35 1225 32 120 DOL	L 15	DOL	120	24	1225	35	35	-	DODO	OBC	120	Regular	Salem	
On NH44 between, V. V. Vanniyaperumal college for women, Virudhunagar and Virudhunagar Medical College  Nirudhunagar Medical College  On NH381, 14 Kms towards Tiruppur from Avinashipalayam to Palavanjipalayam bus stand  Tiruppur Regular 120 SC CFS 24.8 35 35 1225 DOL  On SH109 between, Raaj Bhaavan Clarks Inn Chennai OMR, Thoraipakkam and The Park, Kovilambakkam.  Chennai Regular 400 Open DODO - 25 25 625 32 105 DOL  On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam  Ariyalur Regular 180 Open DODO - 35 35 35 1225 32 120 DOL								<del> </del>					'	
Virudhunagar Medical College  Virudhunagar Medical College  On NH381, 14 Kms towards Tiruppur from Avinashipalayam to Palavanjipalayam bus stand  Tiruppur  Regular  125  OBC  DDDD  - 35  35  1225  24  120  DDL  623  On NH381, 14 Kms towards Tiruppur from Avinashipalayam to Palavanjipalayam bus stand  Tiruppur  Regular  120  SC  CFS  24.8  35  35  1225  DDL  624  On SH109 between, Raaj Bhaavan Clarks Inn Chennai OMR, Thoraipakkam and The Park, Kovilambakkam.  Chennai  Regular  400  Open  DDDD  - 25  25  625  32  105  DDL  625  On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam  Ariyalur  Regular  180  Open  DDDD  - 35  35  1225  24  120  DDL								-					_	
624 On SH109 between, Raaj Bhaavan Clarks Inn Chennai OMR, Thoraipakkam and The Park, Chennai Regular 400 Open DODO - 25 25 625 32 105 DOL 625 On SH139 between, Ariyalur District Collector Office and Post Office Nagamangalam Ariyalur Regular 180 Open DODO - 35 35 1225 32 120 DOL	L 15	DOL	120	24	1225	35	35	-	DODO	OBC	125	Regular	Virudhunagar	
Kovilambakkam.  Chennal Regular 400 Open DODO - 25 25 625 32 105 DOL  Regular 400 Open DODO - 35 35 1225 32 100 DOL  Regular 400 Open DODO - 35 35 1225 32 120 DOL	L -	DOL	-	-	1225	35	35	24.8	CFS	SC	120	Regular	Tiruppur	
								-		· ·				Kovilambakkam.
								<del> </del>		<del></del>				
626 On NH544H, 13 Kms from Mecheri to PN Patti Panchayat Office,Salem Salem Regular 120 OBC DDDO - 35 35 1225 24 120 DDL  627 On NH48 between, Surapattu Toll Plaza, Ambattur and Velammal Hall, Ambattur Industrial Chennai Regular 270 SC CFS 73.2 30 30 900 DDL			-	-										On NH48 between, Surapattu Toll Plaza, Ambattur and Velammal Hall, Ambattur Industrial
Estate.  On SH 120, From Bon Secours College of Nursing, Thiruvallur Road, Molachur to B6 Mappedu Police Station, Mappedu.  Tiruvallur Regular 135 Open DDD0 - 35 35 1225 24 120 DDL	L 15	DOL	120	24	1225	35	35	-	DODO	Open				On SH 120, From Bon Secours College of Nursing, Thiruvallur Road, Molachur to B6

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	num Dimens a of the site	•	1	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
629	On NH-32 (SH-176), From NH-44/NH-32 (SH-176) Maharajapuram Junction Near Kattaiyerum Perumal Temple to Government Hospital, Chettikulam.	Tirunelveli	Regular	215	Open	DODO	-	35	35	1225	32	120	DOL	15	5
630	On NH68, 4 Kms from NH79-NH68 junction to SP Apparels Ltd	Salem	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
631	On NH 36 (Thanjavur- Kumbakkonam Hwy), 10 Kms from Best Matriculation Higher Secondary School towards Kumbakkonam.	Thanjavur	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
632	On SH 63 (Thanjavur-Mannargudi Rd) , From Arunamalai College of Education(B-Ed) to Vaduvoor Birds Sanctuary	Tiruvarur	Regular	135	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
633	On SH 514 (Patchur-Kothur road), From SH 514-NH 48 Junction to Govt Hr.Sec School, Patchur	Tirupathur	Regular	100	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
634	On SH1A Road, Between Manali Booster, Metro Water, M.F.L, Manali High Rd, Manali and Kamaraj Nagar Murugan Temple, Brindavan Nagar, Ennore	Chennai	Regular	290	Open CC-1	DODO	-	25	25	625	32	105	DOL	15	5
635	On SH122(Airport Rd), From SH122-SH 240 Junction to Vellore Airport.	Vellore	Regular	130	Open	DODO	-	35	35	1225	24	120	DOL	15	5
636	On SH79, within 5 Kms from Sri SPK Public School, Kadanchallur towards Tiruchengode, Namakkal	Namakkal	Regular	100	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
637	On NH532, From Sri Rama Meenatchi Thirumana Mahal, Kannarapettai to EB Sub Station, Kullanchavadi Valudambattu.	Cuddalore	Regular	120	OBC	DODO	-	35	35	1225	24	120	DOL	15	4
	On SHU 146, road branching from Old NH 45 to Ulundurpet Town Road	Kallakurichi	Regular	100	Open	DODO	-	35	35	1225	24	120	DOL	15	5
639	On NH83, 12 Kms from Manjilas food tech Pvt Ltd to Gomangalpudur Tool plaza On NH48, From Meenakshi Medical College Hospital & Research Institute, Raasi Nagar,	Coimbatore	Regular	120	Open	DODO	-	35	35	1225	24	120	DOL	15	5
640	Karrapettai Post, Enathur and Safety Innovation School, L&T, Jambodai.	Kancheepuram	Regular	180	SC	CFS	24.8	35	35	1225	-	-	DOL	-	3
	On SH84, 12 Kms from The Karur Polytechnic College towards Kodumudi.  On NH181, 10 Kms from St. Stephen's church, Ooty towards Pykara.	Karur The Nilgiris	Regular Regular	125 120	OBC Open	DODO DODO	-	35 20	35 20	1225 400	24	120 120	DOL	15 15	5
	On SH-71, 5 Kms From Government Primary Healthcare, Malaikudipatti towards Viralimalai.	Pudukottai	Regular	100	Open CC-2	DODO	-	35	35	1225	24	120	DOL	15	5
644	On MDR 587, From NH-183/MDR-587 Junction, Cumbum To Government Hospital, Kamayagoundanpatti.	Theni	Rural	85	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
645	On Porasapattu - Erudayampattu Road, 2.5 kms from SH 6-Porasapattu - Erudayampattu Road Junction towards Porasapattu	Kallakurichi	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
646	On MDR 245, between Poovilundhanallur bus stop, Mela poovilundhanallur, Kurungudi and Sri Swarnapuriswarar Temple, Kollidam to Kallanai Main Rd, Eyyalur.	Cuddalore	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
647	On ODR8791/ODR2810 (Muttavakkam - Ozhakolpattu -kilvenbakkam road), from NH48 - ODR8791 junction, Sirunaiperugal to MDR793-ODR8791/ODR2810 Junction.	Kancheepuram	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
648	On MDR 602 (Kadampuliyur - Sendanadu - Ulundurpet Road), 15kms from NH36-MDR602  Junction at Kadampuliyur towards Senthanadu.	Cuddalore	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
649	On MDR-105(Eraniel - Muttom Road), From SH-91/MDR-105, Kattadimoodu Junction, Eraniel to Muttom Light House, Muttom	Kanyakumari	Rural	100	Open	DODO	-	35	35	1225	24	90	DOL	5	4
650	On MDR684, between Sendurai Taluk Office, Sendurai and Panchayat union elementary school, Udayarpalayam	Ariyalur	Rural	90	Open	DODO	-	35	35	1225	24	90	DOL	5	4
651	On MDR-928, From Kollencode Kannanagam Junction (SH-179/MDR-928 Junction) to NH-66/MDR-928 Junction, Cheruvarakonam. (Tamilnadu - Kerala Border)	Kanyakumari	Rural	100	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
652	On MDR1119 Gundu Salai Road, from NH38-MDR1119 junction to Enathirimangalam Bus stop	Villupuram	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
653	On MDR328 between Bommidi Bus Stand and Govt Higher Secondary school, Bairnatham, Dharmapuri	Dharmapuri	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
654	On MDR-185, From SH-26/MDR-185 Junction, Aranthangi to MDR-185/MDR-663 Junction at Kilanilai, Thenipatti Near Kilanilai Sub-Post Office.	Pudukottai	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
655	On MDR 387 between, Taluk Office, Rajapalayam and Mudangiyar Substation, Rajapalayam.	Virudhunagar	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
656	On MDR 803, 5KM from the junction of (MDR803-NH 38) towards Tandarai.	Tiruvannamalai	Rural	80	SC	CFS	30.4	35	35	1225	-	-	DOL	-	2
657	On MDR 763, From Velmani Mahal A/C, Andippatti To Office Of The Assistant Executive Engineer, TWAD Board, RWS Sub Division, Vaigaidam	Theni	Rural	85	Open	DODO	-	35	35	1225	24	90	DOL	5	4
658	On MDR1216, between Kumilankuzhi Post office, Kumilankuzhi and Melanikuzhi Sub Post Office, Melanikuzhi.	Ariyalur	Rural	100	OBC	DODO	-	35	35	1225	24	90	DOL	5	3

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	ı	num Dimens a of the site ( **	•	I	be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
659	On MDR590, between Sri Veerachinnammal Thirukovil, Siluvathur and EB Office, Kambiliampatti	Dindigul	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
660	On MDR656, Periyakulam Bypass Road - From MDR 656 - NH 183 junction, Periyakulam To MDR 656- SH 101 Junction, Jeyamangalam.	Theni	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
661	On MDR643, from Govt. Hospital Nilakottai to Arkay Glenrock Private Limited, Puduchatram	Dindigul	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
662	On MDR997, between MDR997-SHU117 Junction near Dheeran Chinnamalai Memorial Statue, Sangagiri and MDR997-SH86 Junction at Sankaridurg Railway Station	Namakkal	Rural	90	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
663	On MDR237 within 8 Kms from Sri Pachaiamman Kovil,Sillarahalli towards Maniyabadi Village, Pappireddipatti	Dharmapuri	Rural	95	Open	DODO	-	35	35	1225	24	90	DOL	5	4
664	On MDR941, From NH-66/MDR-941 Junction Near Kuzhithurai Anna Statue to Kaliyal Junction Near Thirparappu Falls.	Kanyakumari	Rural	90	Open	DODO	-	35	35	1225	24	90	DOL	5	4
665	On MDR705, from Shri Selliyamman Koil, Samipatti to the Junction NH83 -MDR 705 (N.K.Road Bridge)	Thanjavur	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
666	On ODR, within 2 Kms from Govt School Aathukottai, Sirenahalli towards Erudukuttahalli, Palakkodu	Dharmapuri	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
667	On MDR-408, Sankarankoil - Thiruvenkadam Road, From SH-44/MDR-408 Junction, Thiruvenkadam to Karisalkulam Bus Stop, A Karisalkulam.	Tenkasi	Rural	120	Open	DODO	-	35	35	1225	24	90	DOL	5	4
668	On MDR746 , between Abinaya Thirumana Mandabam, 187-A Apadi road, Vridhachalam and Sri Muthumari Amman Temple, A.Kottarakuppam, Aladi.	Cuddalore	Rural	80	Open CC-1	DODO	-	35	35	1225	24	90	DOL	5	4
669	On MDR-187, Kottar - Ethamozhi Road, From NH-66/MDR-187 Junction, Kottar to SH-179/MDR-187 Ethamozhi Junction, Ethamozhi.	Kanyakumari	Rural	100	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
670	On MDR1122 road, between Govt. Primary Health Centre, Elakurichy and NH136-MDR1122 Junction.	Ariyalur	Rural	110	SC	CFS	18	35	35	1225	-	-	DOL	-	2
671	On MDR599, (Madharpakkam-Gummidipoondi Rd), From Akshara Industries Ltd to MTC Businesses Pvt Ltd (Unit II)	Tiruvallur	Rural	130	Open	DODO	-	35	35	1225	24	90	DOL	5	4
672	On MDR 733 from (NH 183-MDR 733) Junction near Batlagundu to N.P. Ramasamy Government Higher Secondary School near Ayyampalayam	Dindigul	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
673	On Kalliancaud - Erachakulam Road, From Ponjesly Super Speciality Hospital, Chunkankadai to Government High School, Erachakulam.	Kanyakumari	Rural	110	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
674	On MDR762 (Andipandal - Nannilam road), From Nannilam Bus Stand to MDR672-SH23 junction at Panangudi	Tiruvarur	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
675	On Amanimallapuram – Marandahalli – Denkanikotta Road between Government Primary School, Marandahalli & Little Flower Nursery & Primary School, Amanimallapuram, Dharmapuri	Dharmapuri	Rural	100	Open	DODO	-	35	35	1225	24	90	DOL	5	4
676	On MDR856, within 2 Kms from Puthupatty Maariyamman Temple, 44, R.Pudupatti, Rasipuram towards Namagiripettai	Namakkal	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
677	On MDR100, within 5 Kms from MDR100-NH844 Junction at Kadagathur towards Papparapatti	Dharmapuri	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
678	On ODR, from NH32 and Theri Road Junction, Pudukottai to Dr. G.U.Pope Engineering College, Sawyerpuram, Thoothukudi	Tuticorin	Rural	90	Open	DODO	-	35	35	1225	24	90	DOL	5	4
679	On MDR1125 between, Arulmigu Anbil Mariamman Temple, Anbil and Government Hospital, Anbil.	Tiruchirappalli	Rural	80	SC CC-1	CFS	18	35	35	1225	-	-	DOL	-	2
680	On MDR 687, within 8 Kms from MDR687-MDR733 Junction at Nellur towards Dindigul	Dindigul	Rural	80	Open-CC2	DODO	-	35	35	1225	24	90	DOL	5	4
681	On MDR (Anamalai - Dhali Rd), within 6 Kms from Anamalai-Dhali Rd - SH78 Junction towards Anamalai	Coimbatore	Rural	80	OBC CC-1	DODO	-	35	35	1225	24	90	DOL	5	3
682	On MDR, between PVR Theater Nambiyur and Kedarai bus stop On MDR888A, In Nambiyur to Puliampatty road from KaradiKovil 7 Kms towards	Erode	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
683	Puliampatty	Erode	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
684	On MDR 401 (Amoor Rd) From SK Thirumana mahal, to Little Flower Convent Matriculation Higher Secondary School, Ammoor.  On MDR 525 From Mazhajiwa Post Office to MDR 525 (MDR 272 Junction Budgestti	Ranipet	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
685	On MDR-525, From Mazhaiyur Post Office to MDR-525/MDR-372 Junction, Pudupatti.  On Pudupattu-Karnavur Rd, between Kannigapuram govt school, Pudupattu and Shri	Pudukottai	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
686	Draupathi Amman Temple, Karnavoor.	Ranipet	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	mum Dimens a of the site **	٠ .		be arranged by ant in Rs Lacs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
687	On MDR 1041 (Minjur - Kattur Road) From Govt School, Thiruvellivoyal to Sontrust Nursery and Primary School.	Tiruvallur	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
688	ON MDR1047, from NH138/MDR1047 junction(Jameen Nallamalai) to Gandhi Silai Bus Stop, Eral.	Tuticorin	Rural	90	SC	CFS	18	35	35	1225	-	-	DOL	-	2
689	On ODR between, Shri Om Sakthi Temple, Keezhapalur and Panchayat Union Primary School, Vannarappettai, Ariyalur	Ariyalur	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
690	On MDR696, between MDR696-SH219 Junction and St. Joseph College of Arts and Science for Women, Pagalpatti	Salem	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
691	On MDR634 (Medur-Gumidipoondi Rd), 4 km from F1 Gumidipoondi police station, Gumidipoondi towards Vazhuthalambedu	Tiruvallur	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
692	On ODR395 (Mannur- Aranvoyal Road), from SH50B - ODR 3684 junction at Mannur to SH50 - ODR 3684 Junction	Tiruvallur	Rural	105	SC	CFS	18	35	35	1225	-	-	DOL	-	2
693	On MDR 378, from NH16-MDR378 junction, periyapalayam to NH716A -MDR378 junction, Puduvoyal	Tiruvallur	Rural	105	Open	DODO	-	35	35	1225	24	90	DOL	5	4
694	On MDR547 (Velur-Mohanur Road), within 3 Kms From Panchayat Union Office towards Velur, Namakkal	Namakkal	Rural	80	Open CC-1	DODO	-	35	35	1225	24	90	DOL	5	4
695	On MDR 462 (Thirukazukundram Bypass Rd), From Rotary Hospital, Tirukazhukundram to SH58 -MDR 462 junction (Veranam Egai Junction).	Chengalpattu	Rural	90	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
696	On MDR777, within 2.5 Kms from Thonganur Railway Station Bridge towards Maniyabadi	Dharmapuri	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
697	On Devikapuram-Alurpettai Rd, 13 Kms towards Devikapuram village from the Junction point of (SH 133A- Devikapuram- Alurpettai Rd) within Villupuram district	Villupuram	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
698	On ODR 3812/ODR 7024, from NH48 -ODR3812 junction (Opposite to Kancheepuram - Enathur entrance) to Thodur School, Koothavakkam.  On ODR 7325 Walajabad -Uthukadu-Puthagaram Road, from SH48-ODR7325 junction,	Kancheepuram	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
699	Kattavakkam, Uthukadu to Lake View Orchards, Marudham Rd, Rajkulam Post, Karur, Kancheepuram	Kancheepuram	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
700	On MDR-933, Thiruvattar - Thiruparappu Road, From TNSTC Depot, Thiruvattr to Thirparappu Falls.	Kanyakumari	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
701	On Eriyur-Kallakuirichi Rd, From kallakurichi bypass to Anganwadi building, Thenkeeranur	Kallakurichi	Rural	80	ST	CFS	18	35	35	1225	-	-	DOL	-	2
702	On MDR 588, within 3 Kms from Taluk Office, Denkanikottai towards andevanapalli	Krishnagiri	Rural	85	Open	DODO	-	35	35	1225	24	90	DOL	5	4
703	On MDR13, within 5 Kms from Anaimalai Rangaram Childrens Park, Anaimalai towards Sethumadai within Coimbatore limits	Coimbatore	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
704	On MDR 30, within 1 km from MDR30-NH381A junction towards Arachalur	Erode	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
705	On MDR 1168 (Timri- Karnavur Rd) From Indira nursery & primary school, Kavanur to Yogi Vamana Matriculation School, Timiri.	Ranipet	Rural	85	SC PH	CFS	18	35	35	1225	-	-	DOL	-	2
706	On MDR 570- Vellappar Temple Road - From NH85/MDR570 Juntion, Andipatti To State Bank of India, Kanniappapillaipatti branch, Andipatti.	Theni	Rural	100	OBC PH	DODO	-	35	35	1225	24	90	DOL	5	3
707	On MDR-578 , From Vellakulam Junction (MDR 578-SH134 junction) Brammadesam Rd, Kiliyanur, Ariyantangal to Vaikunda Vasa Perumal Temple, Kiliyanur.	Villupuram	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
708	On MDR-10, Alampatti - Sedapatti Road - From Government Higher Secondary School, Achampatti To Annai Fathima College of Arts and Science, Tirumangalam.	Madurai	Rural	85	Open	DODO	-	35	35	1225	24	90	DOL	5	4
709	On MDR 32 Tiruvallur-Arakkonam Rd, On MDR32, LHS Arakkanom to Narayanapuram, starting from Arakkonam Junction to Jaya Agricultural College.	Tiruvallur	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
710	On MDR43 between, Government High School, Aayalavadi, Tiruvannamalai and AAB Nursing College, Thellur.	Tiruvannamalai	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
711	ON MDR1047, from Eral Bus Stand MDR1047 and NH32/SH176 Junction.	Tuticorin	Rural	90	Open	DODO	-	35	35	1225	24	90	DOL	5	4
712	On MDR-664, between Regional Research and Educational Centre, Pudukkottai and Vennila Nursery and Primary School, Puthambur.	Pudukottai	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
713	On MDR 807, From MDR 807- NH38 junction, Soorapattu to Sri Vasantham Thirumanam Mahal, PanamalaiPettai, Panamalai.	Villupuram	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
714	On MDR1119, from SH68-MDR1119 junction near Pudupet Police station to Government Hospital Oraiyur, Oraiyur.	Cuddalore	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **		Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit	
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
715	On MDR-27, From Sahaya Matha Church, Vazhukamparai to St. Stella's Matric Higher Secondary School, Anjugramam.	Kanyakumari	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
716	On MDR 540 (Vedathangal Rd), Between Aruda Engineers Private Limited and Bay Forge Pvt. Ltd, Pukkathurai Village.	Chengalpattu	Rural	110	Open	DODO	-	35	35	1225	24	90	DOL	5	4
717	On MDR108, 5 Kms from SH96-MDR108 Junction at Chennimalai towards Vellode.	Erode	Rural	100	Open	DODO	-	35	35	1225	24	90	DOL	5	4
	On MDR 555 (Station Rd) , From Sub Registrar Office, Walajapet to Ranipet ITI, Amoor	Ranipet	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
/19	On ODR Road, 5 Kms from Melmattai Vinnamangalam Post office, Melmattai Vinnamangalam towards Devanathur.	Tiruvannamalai	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2
720	On MDR547, between MDR547-Anna Salai Rd Junction and Government Higher Secondary School, Palapatti, Namakkal	Namakkal	Rural	80	Open CC-1	DODO	-	35	35	1225	24	90	DOL	5	4
721	On Palacode Rd, within 4 Kms from Palacode Rd-NH44 Junction near Poonathanahalli towards Kottumaranahalli Village	Dharmapuri	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
722	On MDR 607 (Vallimalai Temple rd), From MDR607 and NH 40 junction at Serkadu to Valliamalai Swamy Temple Arch	Vellore	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
	On MDR489, between Sri Ranganathar Institute of Engineering and Technology (SRIET), Sarkarsamakulam-Thudiyalur Rd, Coimbatore and Shri Angalamman Thirukovil, Aruva chettipudur, Kottaipalayam	Coimbatore	Rural	90	SC	CFS	18	35	35	1225	-	-	DOL	-	2
724	On MDR1044, between MDR1044-NH179A Junction and Sri Bhatra Kali Amman Temple, Majra Jalakandapuram, Sarkar Nattamangalam(Post), Ayothiyapattinam - Belur Main Road	Salem	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
725	On MDR744, between Suthamalli Post Office, Suthamalli and SH140-MDR744 Junction, Kodangudi North	Ariyalur	Rural	90	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
726	On SH224 (palacode – Papparapatti Road), within 5 Kms from SH224-SH17 Junction towards Papparapatti.	Dharmapuri	Rural	130	Open	DODO	-	35	35	1225	24	90	DOL	5	4
727	On MDR851, between Danishpet Railway Station and MDR851-NH44 Junction	Salem	Rural	120	Open	DODO	-	35	35	1225	24	90	DOL	5	4
728	On MDR29, 10 Kms from Anthiyur Bus stand towards Bhavani Pirivu	Erode	Rural	80	SC CC-1	CFS	18	35	35	1225	-	-	DOL	-	2
729	On MDR134, between Bus Stand Elampalli and Government Higher secondary School Chinnapillaiyur	Salem	Rural	80	OBC CC-1	DODO	-	35	35	1225	24	90	DOL	5	3
730	On MDR588, within 3 Kms from Forest Department Guest House Anchetty towards Natrampalayam, Krishnagiri	Krishnagiri	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
731	On MDR 32, from Jaya Agricultural College, Vyasapuram to Government Higher Secondary School, Thiruvalangadu	Tiruvallur	Rural	80	Open PH	DODO	-	35	35	1225	24	90	DOL	5	4
	In MDR 682, between Sri Velavan Mandapam, Irukkankudi Rd, Irukkankudi, Nenmeni, Virudhunagar and Government College girls hostel (ADW), Sattur, Nenmeni, Sattur, Virudhunagar	Virudhunagar	Rural	145	SC	CFS	18	35	35	1225	-	-	DOL	-	2
733	On MDR 649, From MDR 649-MDR 676 Junction, Markaiyankottai To MDR 649-MDR 734 Junction, Uppukottai	Theni	Rural	90	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
734	On MDR157, within 6 Kms from MDR157-NH77 Junction at Kannandahalli towards Velampatti	Krishnagiri	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
735	On MDR510, 4 kms from Udumalapet bus stand Sri CNR Srinivasan Thirumana Mahal,S V Puram.	Tiruppur	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
736	On MDR237 between Bommidi Railway Station and Panchayat and VAO Office, Jalipudur	Dharmapuri	Rural	85	SC	CFS	18	35	35	1225	-	-	DOL	-	2
737	On Mannachanallur New By-pass road, Manachanallur.	Tiruchirappalli	Rural	90	Open	DODO	-	35	35	1225	24	90	DOL	5	4
738	On MDR701, 6 Kms from Veeraganur Kongu Gounder sangam to Eluppanatham Panchayat Office	Salem	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
739	On MDR 372 (Karambakkudi-Pattukotai Rd), From MDR 372-SH99 junction to Panneer Thevar Mahal within Thanjavur district limit	Thanjavur	Rural	80	Open	DODO	-	35	35	1225	24	90	DOL	5	4
740	On MDR 840 (Mannargudi- Thirumankottai Rd), Devi Higher Secondary School to Government Boys Higher Secondary School, Thirumakottai	Tiruvarur	Rural	80	OBC	DODO	-	35	35	1225	24	90	DOL	5	3
741	On MDR271, between Marandahalli Verterinary Hospital, Marandahalli and Seventh Day Adventists Church, Vellichandai	Dharmapuri	Rural	85	SC	CFS	18	35	35	1225	-	-	DOL	-	2
742	On ODR between Kavalkinaru to Radhapuram, From Government Primary Health Centre, Vadakkankumam to Radhapuram Jumma Masjid, Radhapuram.	Tirunelveli	Rural	90	Open	DODO	-	35	35	1225	24	90	DOL	5	4

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	1	mum Dimens a of the site **	•	I	be arranged by ant in Rs Lacs	Mode of Selection		Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC- 1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	1	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development		in Rs Lakhs	in Rs Lakhs
743	On MDR651, between Primary Healthcare Centre, Parandur and Bon Secours Hospital, Molasur, Thiruvallur Road, Sunguvarchatram, Sriperumbudur.	Kancheepuram	Rural	80	Open CC-1	DODO	-	35	35	1225	24	90	DOL	5	4
744	On MDR 532, (Vallam-Orthanadu Main Rd) from 4 Road Intersection at Marungulam to SH29 - MDR532 junction via Vallam Road.	Thanjavur	Rural	80	ОВС	DODO	-	35	35	1225	24	90	DOL	5	3
1 /45	On MDR-768, Kamuthi - Sayalkudi Road, From Kamuthi Bus Stand, Kamuthi to Adani Green Energy Tamil Nadu Limited, Sengappadai, Kamuthi.	Ramanathapuram	Rural	80	SC	CFS	18	35	35	1225	-	-	DOL	-	2

- \* Rentals shown under 7A are only for CFS type of sites and has been arrived at based on class of market. There will be 2% increase in rentals every year for the period of lease. The actual rent will depend on the class of market to which the selected site belong and can be at variance from those indicated above.
- # Volumes Indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of the potential
- \*\* The site should be either owned or on lease with the applicants for minimum 19 years and 11 months or the applicant should have firm offer for the land as on date of application. The lease format is available in www.mdsp.co.in. The lease executed should be as per this format.

Sites offered against "Rural" type of ROs should not be on National/ State Highways or within Municipal/ Town/ Corporation limits

The site offered should be having dimensions as indicated above after leaving the designated Right of Way (ROW) as per local norms and there should not be any other land in between the site offered and ROW.

Finance to be arranged by applicants (under column 9A and 9B) is based on MRPL assessment at prevailing rates. The applicants are advised to make their own assessment of the same before applying.

Collateral free bank loans can be availed through Central Govt. credit scheme - CGTMSE (Credit Guarantee Fund Trust for Micro & Small Enterprises) for infrastructure development & working capital assistance, by interested LOI holders of all categories including OBC Category. For more details, terms & conditions of the same, applicants may visit website www.cgtmse.in.

The explanation for the columns is provided in the brochure which also contains the detailed guidelines of selection for dealership along with other relevant details

The brochure can be downloaded from MRPL website at www.mdsp.co.in

The application along with the fees (as applicable) needs to submitted online on the portal www.mdsp.co.in

Any corrigendum to this advertisement will be published only in website **www.mdsp.co.in** 

APPLICANTS IN THEIR OWN INTEREST SHOULD CAREFULLY GO THROUGH THE BROCHURE AND UNDERSTAND THE CONDITIONS FOR SLECTION BEFORE SUBMITTING THEIR APPLICATION

Applications should be submitted online on or before 23:59 hrs on 24.01.2026

MRPL has not authorised any person or agency to act on its behalf or facilitate the selection in response to this advertisement. Applicants are advised to directly get in touch with the concerned Sales Officers or Regional Managers for any clarification.

Category wise non-refundable application fee payable

Type of RO	Category	Application fee in Rs	Type of RO	Category	Application fee in Rs			
	SC/ST	3000		SC/ST	2500			
REGULAR	OBC	5000	RURAL	OBC	4000			
	Open	10000		Open	8000			

The tenure of dealership will initially be for a period of 10 years and will be renewable every 5 years there on.

MRPL reserves the right to cancel / withdraw / amend or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in vernacular dailies vis a vis English Newspaper, the direction / information indicated in English will prevail.